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The following table shows the percentage distribution of people in a city working in the night shift, and the

percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Distribution (%0) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
{out of 80500) the Night Shaft.
IT 12% 20%
Sports 18% 20%
Call centre 32% 43%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the ratio of the number of males to the number of females working in the night shift from the Call
Centre industry 7
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The following table shows the percentage distribution of people in a city working in the night shift, and the

percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Dastribution (%) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
(out of 80500) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 43%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the approximate average number of females working in the night shift from all the industries together
3
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The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Dastribution (%) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
{out of 80500) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 43%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the total number of males working in the night shift from all the industries together ?

1. 56594
2. 51576
. 537356
. 53774
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The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,

Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the

question :
Industry-wise Percentage of People working in Night shift

Dastribution (%) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
{out of 80500) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 43%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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The number of females working in the night shift form the sports industry is % of the total number of

people working in the night shift from all the industries together ?
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2[Option ID=30514]
3[Option ID=30515]
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The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Dastribution (%) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
{out of 80500) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 43%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the difference between the total number of males and the total number of females working in the night
ghift from all the industries together 7
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1[Option ID=30517] Question Description : general_paper_genarel paper_set 25_english_q5
2[Option ID=30518]
3[Option ID=30519]
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In which of the following ways Padlet (online tool) can be used ?

A. For creating virtual wall

B. For uploading the files

C. For collaborative work

D. For posting the pictures and texts

Choose the most appropriate answer from the options given below :

1. Aand D Only
2.B and C Only
3. Cand D Only
4 A B.CandD

(1) 1

) 2

(3) 3

(4) 4
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1[Option ID=30521] Question Description : general_paper_genarel paper_set 25_english_q6
2[Option ID=30522]
3[Option ID=30523]
4[Option ID=30524]
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Given below are two statements :
Statement I : GSAT-30 satellite is used by Swayamprabha for the programme telecasts on the DTH channels.
Statement IT : The Programs of Swayamprabha are available on 24x7 basis.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=30525] Question Description : general_paper_genarel paper_set 25_english_q7
2[Option ID=30526]
3[Option ID=30527]
4[Option ID=30528]
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Which period of learning shows no improvement in learning curve?

1. Irregular progress
2. Spurts
3. Plateau
4. Initial Stage

) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=30529] Question Description : general_paper_genarel paper_set 25_english_q8
2[Option ID=30530]

3[Option ID=30531]
4[Option ID=30532]
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According to Herbart, arrange the elements of Pedagogy of teaching and learning in a sequence ?

A. Preparation
B. Association
C. Presentation
D. Application
E. Generalisation

Choose the correct answer from the options given below :

1L.EBACDE
2.C,A.E.B.D
3.A.C.B.E.D
4.B.A.CE.D
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(3) 3
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1[Option ID=30533] Question Description : general_paper_genarel paper_set 25_english_q9
2[Option ID=30534]
3[Option ID=30535]
4[Option ID=30536]
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QBID:25201010

Given below are two Statements :

Statement I : Entry behaviour implies the activities and responses of the learners after the completion of the
teaching -learning process,

Statement II : Terminal behaviour implies the activities of the learners prior to the teaching-learning process.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement 1T is correct.
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=30537] Question Description : general_paper_genarel paper_set 25_english_q10
2[Option ID=30538]
3[Option ID=30539]
4[Option ID=30540]
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When in a process of reasoning observation is followed by theory, hypotheses and interpretation, that approach
to research is known as

1. Formulative
2. Standardised
3. Inductive
4, Deductive
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=30541] Question Description : general_paper_genarel paper_set 25_english_q11
2[Option ID=30542]




3[Option ID=30543]
4[Option ID=30544]
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If research is done to find out behaviours and attitudes by analysing existing records and other materials, it is
known as

1. Past research
2. Non-observational research
3. Non-participant research
4. Archival research
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=30545] Question Description : general_paper_genarel paper_set 25_english_q12
2[Option ID=30546]

3[Option ID=30547]
4[Option ID=30548]
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If the dress of a person does not reflect or predict his voting behaviour, the azsumption is of

1. Positive correlation
2. Zero correlation
3. Partial correlation
4. Fragmented correlation
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=30549] Question Description : general_paper_genarel paper_set 25_english_q13
2[Option ID=30550]
3[Option ID=30551]
4[Option ID=30552]
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Which of the following are advantages of web-based research ?

It saves time.

The participant can engage in the task at his /'her convenience.
The data collection is automatic and accurate.

It demands a small sample.

The participants are heavily paid.

MmO 0wy

Choose the correct answer from the options given below :

1.A, B, C Only
2.B.C.D Only
3.C.D. E Only
4. A, D, E Only

(1)1

(2) 2

3) 3

(4) 4
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1[Option ID=30553] Question Description : general_paper_genarel paper_set 25_english_q14
2[Option ID=30554]
3[Option ID=30555]
4[Option ID=30556]
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Given below are two statements :
Statement I : Survey research has the advantage of sampling a large number of respondents who are selected

for research.
Statement II : Researchers, to administer their own surveys, do not have many options except to do it

themselves.

In the light of the above statements, choose the correct answer from the options given below :

Both Statement I and Statement II are true.

Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

1) 1

2) 2

(3) 3

(4) 4

ka2 —




G EAIECRI e

HYT 1 : U1 Qe H I srargerarst & 3if¥ie ao! Ten § ufawa &1 @y gial g, o 2y & fag
I fpar ear g |

PYTII : AT T P JA&U BT Jae $= a0 TUFHarsit b THE T GRI 59 B Bl IS P 30D
fapa Teligld gl

IR FYA & A 1, 1d [SU Y fdmed] H Tl IR &1 98- Hiuie:

HYF IR I TR |

HY AR IS AT T |

PUT I G R, AfPT SUT 1 3 | |

HY I, AT T I 9T ® |

1) 1

(2) 2

(3) 3
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1[Option ID=30557] Question Description : general_paper_genarel paper_set 25_english_q15
2[Option ID=30558]
3[Option ID=30559]
4[Option ID=30560]

Sl. No.16
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People perceive the communicated messages according to their

1. Official status
2. Cultural values
3. Imagined influences
4. Semantic gaps
1 1
(2) 2
3) 3
(4) 4
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1[Option ID=30561] Question Description : general_paper_genarel paper_set 25_english_q16
2[Option ID=30562]
3[Option ID=30563]
4[Option ID=30564]

Sl. No.17
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The doctrine of individualism, a political concept in communication, is identified as a/an

. Formula
. Economic indicator
stitutional background
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30565] Question Description : general_paper_genarel paper_set 25_english_q17
2[Option ID=30566]

3[Option ID=30567]
4[Option ID=30568]
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The behaviouristic model of communication asserts that

Behaviours are learnt in social situations
Behaviours are learnt in external situations only
The mental state of individual 1s important

. The mental state of individual is unimportant
Communication techniques for cultural change include both verbal and non-verbal messages.

moowe

Choose the most appropriate answer from the options given below :

(4) 4
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1.®Add A, B, C
2.%ddB.C,D
3. %dAA, C,E
4, $ddC,D,E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30569] Question Description : general_paper_genarel paper_set 25_english_q18
2[Option ID=30570]

3[Option ID=30571]
4[Option ID=30572]
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The elements as related to communication in the ancient paradigm of everyday life are

Physiological
Economic
Ethical
Self-realisation
Ego clashes

mO 0wy

Choose the most appropriate answer from the options given below :

1.A.B.C.D Only
2.B,C. D, E Only
3.A,C,D,E Only
4. A,B.D,E Only
1
@ 2
@3) 3
(4) 4
&f® offes & W dfaas (Rres ) & IS 3 Seid @R dd § 2
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B. onfife
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E. 36H & TR
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1[Option ID=30573] Question Description : general_paper_genarel paper_set 25_english_q19
2[Option ID=30574]
3[Option ID=30575]
4[Option ID=30576]
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Given below are two statements :
Statement I : By supplying facts and opinions, mass media enable the audience to make decisions.
Statement IT : Mass media should supress facts and opinions in order to influence the government decisions.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=30577] Question Description : general_paper_genarel paper_set 25_english_q20
2[Option ID=30578]

3[Option ID=30579]
4[Option ID=30580]
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A, B, C and D are all distinct individuals. The details of their relationships are given as ;

i. Aisthe daughter of B
i1. Bisthe sonof C
iii. C is the Father of D

Which of the following statements is true ?

1. C is the Uncle of A

2. D and B are cousins

3. Ais the daughter of D

4. If P is the daughter of B, then A and P are sisters.
1 1

(2) 2

3) 3

(4) 4

A, B, C 3R D 9l Gue - gys ofek § | 31 Haitll o faavur Farar & -

i BPITHAR
i CPITABRT
ii. DPIfGAIC®

B INERE R AR R E R R

ABTHFACE |
.D3IRBFAE |

DB AR | ]
AEBBHI PR, AMARPTEAS |
1

) 2

3) 3

(4) 4

R

1[Option ID=30581] Question Description : general_paper_genarel paper_set 25_english_q21
2[Option ID=30582]
3[Option ID=30583]
4[Option ID=30584]

Sl. No.22
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In a group of 2100 persons comprising of players and their coaches, there is a coach for every fourteen
players. How many coaches are there in the group 7

. 145
. 120
. 140
=150
1) 1
) 2
(3) 3
4) 4

2100 kTGl & TP THg § fEGars! ik S+ URIEs (@19) § | YD dias aansyl R Ub HE ¢ |
e T 3l oo WIIe® € 2

f

145
120
. 140
2150

e L b




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30585] Question Description : general_paper_genarel paper_set 25_english_q22
2[Option ID=30586]

3[Option ID=30587]
4[Option ID=30588]

Sl. No.23
QBID:25201023

What number would replace question mark (?) in the series given below ?
1,5, 11,19, 29, 41, 55, 7

1.71
2.96
3.69
4. 67
(1)1
(2) 2
3) 3
(4) 4

1 €1 715 gaEan § & Al W= gyaEs 9 (2) B aiawiitd sl 2

1, 5,11, 19, 29, 41, 55, 2

|
.96
. 69
a7
(1)1
(2) 2
(3) 3
(4) 4

o R

1[Option ID=30589] Question Description : general_paper_genarel paper_set 25_english_q23
2[Option ID=30590]
3[Option ID=30591]
4[Option ID=30592]

Sl. No.24
QBID:25201024

Karan was born 3 years after his parent's marriage. His father is 6 years older than his mother but 26 years
older than Karan who is 12 years of age as on today. At what age did his mother get married ?

. 20 years
. 19 years
. 17 years
. 18 years

| SR

da L

(1) 1
(2) 2
(3) 3
(4) 4

B BT T IHD TG0l & [4a78 & 3 g9 THTd G 4T | SHS (U1 S9! A1 9 6 T4 98 & Rq d
FAY, 26 AU TS §, Sl A DI ARG H 12 T B 3R HT 5 | IS Al H (3078 (a9 31 T G 4T 2

2099
19 @y
17 a9
18 g

e L b

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=30593] Question Description : general_paper_genarel paper_set 25_english_q24
2[Option ID=30594]




3[Option ID=30595]
4[Option ID=30596]

Sl. No.25
QBID:25201025

A student was asked to divide half of a number by 5 and the other half by 3 and then add the two quantities.
Instead of doing all this the student divides the given number by 4 which results into 5 short of the correct

value. What is the initial number ?

. 300

. 400

. 350

. 450

1) 1

(2) 2

(3) 3

4) 4

Ua [l 9 ud I3 & 319 YR 1 5 3 fauIiord e SR ga el YF &1 3 9 fquiford = daard
ST AT BT U1 R & 7T D111 | I8 e 3 & /U W faandf 3 yew e i 4 fawifsia
foa foraeT IR 98 e 9 5 71 o7 | SRS Sem R i g 2

B R

300
400
350
450

e L b

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30597] Question Description : general_paper_genarel paper_set 25_english_q25
2[Option ID=30598]

3[Option ID=30599]
4[Option ID=30600]

Sl. No.26
QBID:25201026

Which logical fallacy is committed in the following argument - "Atheists have not proven that God does not
exist. Therefore we can conclude that God exists".

1. Ad hominem
2. Appeal to Ignorance
3. Hasty Generalisation
4, Slippery Slope
1)1
(2) 2
3) 3
4) 4

fFafRad gfe § ®H W aifd® QN § - < ARIwanad - a8 HHIUIT Toi (631 § [ 4R P 3R&id el
2 | 3R, 5 Frp FiaTa aa € fp SR a1 o @ 1

1. ofeRt faRiv & forg (7S gifem)
2. WIS gfad (e ¢ S91H)
3. HfGaR] AHI BRI

= N
4. Taegad gar
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=30601] Question Description : general_paper_genarel paper_set 25_english_q26
2[Option ID=30602]
3[Option ID=30603]
4[Option ID=30604]

Sl. No.27
QBID:25201027




"Since all professors are competent, and no competent people are underpaid. Therefore no professors are
underpaid”. Which formal fallacy is committed in the above argument ?

1. Undistributed middle
2. Affirming the consequent
3. Denying the antecedent
4, Existential fallacy

(1) 1

(2) 2

(3) 3

(4) 4

«Jat gt TTOeR 9He B, iR 15 ot el st sicudafas el § | 3uforg, $ig off TiheR sfaddfid
Tie 1" ST IR A S A aH-aN 2

1[Option ID=30605] Question Description : general_paper_genarel paper_set 25_english_q27
2[Option ID=30606]
3[Option ID=30607]
4[Option ID=30608]

Sl. No.28
QBID:25201028

Which of the following statements are logically equivalent 7

. No philozsophers are underpaid scholars.

. All Philosophers are non-underpaid scholars.

. No underpaid scholars are philosophers.

. All non-underpaid scholars are non-philosophers.

oW

Choose the correct answer from the options given below :

. A, B, and C Only
.CanD Only
3.B and D Only
4. A, B and D Only
1) 1
2) 2
3) 3
(4) 4

fFEfEd T Y oH I Sy afes TTITGAE 2

A BI5 o SXFRRE! seqdd=® AT TRl § |
B. O sxFemE! TR-areqdaf® edang |

c. @ig i 3u-3de rdar SRR T8l © |
D. Tft TR-3uaa e Helar TR 2 |

=14 fau Tt fasedl O 9 Tel 3R BT 98 Difuu :
1.HAAA, B 3R C

b =

1[Option ID=30609] Question Description : general_paper_genarel paper_set 25_english_q28
2[Option ID=30610]
3[Option ID=30611]
4[Option ID=30612]




Sl. No.29
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Which of the following statements can neither be both true, nor can they both be together false ?

All bread is nutritious.

Some bread is nutritious.

. Some bread is not nutritious.
. No bread is nutritious.

S 0wy

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3. Aand D Only
4. C and D Only

1 1

2) 2

3) 3

(4) 4

T s A FYTTd aF teUY TI 8l IFhd & IR T8l 4 aFl Ue Iy 3 8l 9dd & 2

A GRESINSE |

B. POTSUNTE |

C. PEASUTD G5 |
D. ®i5HISsuNE RIS |

Hid feu T famed & 9 9gl 3R &1 904 B0 :

1.%ad A IR B
2. FAAAARC
3.%ad A IRD
4. %adc AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30613] Question Description : general_paper_genarel paper_set 25_english_q29
2[Option ID=30614]

3[Option ID=30615]
4[Option ID=30616]

Sl. No.30
QBID:25201030

According to classical Indian school of Logic (Nyiya) which of the following statements commits the fallacy

of viruddha ?

. Sound 1is eternal, because it is produced.
. Wherever there is fire, there is smoke.

. The hill has fire because it is knowable.
. Sound is eternal because it is audible.
1 1

@) 2

3) 3

(4) 4

TR YR G6-0d (1) & S8R FafiiEd 4 3 59 sy d fvg ab-au g 2

1. @l Iy & e g Saasidie |
2. g el AU T, aui Y |
3. UgIS! # oifY 8 ifh g8 g ¢ |
4 AE AT TP TR TR |
1) 1
(2) 2
(3) 3
(4) 4

[ S R ]

1[Option ID=30617] Question Description : general_paper_genarel paper_set 25_english_q30
2[Option ID=30618]
3[Option ID=30619]
4[Option ID=30620]
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QBID:25201031

Given below are two statements :
Statement I : ASCII, a character -encoding scheme, is an acronym for American Standard Code for Intelligent

Information.
Statement I : (37.25);, = (100101.01),

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement IT is true.

(1) 1

(2) 2

3) 3

(4) 4

BIEEACAICRCURIIUES

HYTI: YUH T 35 TS (ASCID), T8 Peds B3 31 AISHI 8, Sl 3FRD LTSS BIS BR eleni<
SHHTE B IR T2 © |

YT : (37.25); = (100101.01),

IRIF Y & AT I, d 20U ITY f[dhed] T Tl SR BT 949 DiwL:

FYFIARN G 9IS |
CHYTI IR AT A |

PYT I IR, AP PUT I T2 |
YIS, AT YT I AR |
1) 1

) 2

3) 3

(4) 4

T ]

1[Option ID=30621] Question Description : general_paper_genarel paper_set 25_english_q31
2[Option ID=30622]
3[Option ID=30623]
4[Option ID=30624]

Sl. No.32
QBID:25201032

Given below are two statements :

Statement I : An Operating System controls peripherals and provides protection against viruses.
Statement IT : In word processing and desktop publishing, the terms portrait and landscape refer to Page
Layout.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement I are false.
. Statement [ is true but Statement II is false.
. Statement [ is false but Statement II is true.
(1)1
(2) 2
(3) 3
(4) 4

RIEEACAIEACURINES

FYA 1 : AR RRed arergfaaal Faf<id $d1 g SR a4 GRef JaH HIdl ¢ |
FYTII : TS WNRITT 3R SWpelq ufsali # uide 3R dsihy Ug Uel daide 3 J6fid § |
IWRIF FUH & 3ATAD 1, id [SU U fdhed] © Tl IR &1 98- Piuig:

HUYTIIR I TIE |

HYT I AR I EE SR |

FY IR, AP PUT I 3T |
HYF AL, AT HYT I A |
(1) 1

) 2

(3) 3

(4) 4

|

ER )

e W b2 =

1[Option ID=30625] Question Description : general_paper_genarel paper_set 25_english_q32




2[Option ID=30626]
3[Option ID=30627]
4[Option ID=30628]

Sl. No.33
QBID:25201033

In computers, which of the following file formats contains exclusively the text file formats ?

PDF
Cs8v
GIF

RTF
TXT

mOnwpe

Choose the correct answer from the options given below :

1. A, B. and E Only
2.B.Dand E Only
3.B. Cand D Only
4, A and C Only

1)1

(2) 2

3) 3

(4) 4

FugeRi B, FEfafad 3 4 ®F 3 BIed BT Had cRe Bled BIHC B 3aidy PR g 2

UEiu® (PDF)
iedl (csv)
S3MEUW (GIF)
3REIUW (RTF)
. CIUaHS! (TXT)

1< fau Tt faeedl O 9 Hel 3Tk BT 98- DIl :

1. Had A, B IR E
. $AdAB,D IR E
. $aAB, C ARD
4. HATA IR C
1) 1
() 2
@) 3
(4) 4

moows

L b2

1[Option ID=30629] Question Description : general_paper_genarel paper_set 25_english_q33
2[Option ID=30630]
3[Option ID=30631]
4[Option ID=30632]

Sl. No.34
QBID:25201034

In the context of MS-PowerPoint, a presentation software, which of the following statements are true ?

A. Objects on the slide that hold text, pictures and more are called Placeholders.

B. MS-PowerPoint automatically opens with Windows Operating System

C. A view that displays the slides of a presentation as miniature representations of the slides is called Slide
Sorter view.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.Band C Only
4. A BandC

1 1

@) 2

(3) 3

(4) 4




TR Ul T dOR U UH-U1aR Wise & dgy H, Fefifad T 9 s I Sy 981 6 2

A WSS R, oA re, o ud it el g1l €. 3 ©ivties Y deani ¢ |

B. fdSi SRS Red & 91 U7 TY - k@ Wa: Ga oI § |

C. U8 ol WSS & qg&y UaH & =4 1 UXId®R0 S Wgs| Bl HaRId Pl o, 34 WSS
AR A DA |

i feu e famed & 9 Ig] 3R &1 904 BT :

1.%ad A IR B
2. HATA AR C
3. %aaAB AR C
4. A B3RC

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30633] Question Description : general_paper_genarel paper_set 25_english_q34
2[Option ID=30634]
3[Option ID=30635]
4[Option ID=30636]

Sl. No.35
QBID:25201035

Given below are two statements :
Statement I : Fibre-optic cable makes use of light pulses to transmit data and is most appropriate to connect

computers in a small building.
Statement II : URL is the text used by web browsers to locate a web address on the Internet,

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement II are False.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement I 1s true.

1)1
(2) 2
(3) 3
(4) 4

G EAIEI GRS

FYT1 : BIaR-3HUP Fad, SIel YUY & [T YHTLRIE B WIRT R0l § SR BIC YT & SHugex| 3l
e () F g Fafies STgad e g |

HYF 11 : IIRUTA(URL) SeTE TR 99 UST HT I 74 & (378 3 STSoRI g1 WEd U6 (29%) BT 6 |
IR FYA & TS H, 1d [SU Y fadmed] H Tl IR &1 98- Hiie:

HY IR I TR |

HY AR IS AT T |

YT I GT R, AfPT SUT 1 3 | |
HUY IS, AT P I 9T E |
@) 1

(2) 2

(3) 3

4) 4

da o k2 =

1[Option ID=30637] Question Description : general_paper_genarel paper_set 25_english_q35
2[Option ID=30638]
3[Option ID=30639]
4[Option ID=30640]

Sl. No.36
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What is the correct sequence of Biomagnification due to contaminated water body?

A. Humans

B. Zooplanktons
C. Bacteria

D. Fish

Choose the correct answer from the options given below :

JAC DB

(4) 4

Tgfid SRl & BRI oid a4 &1 He! SIHH BT a8 ?

A T4
B. WIUr<id®
c. Seeiid (SiaT)
D. Hodl
i feu e famedl & 9 9gl 3Tk &1 944 S :

1[Option ID=30641] Question Description : general_paper_genarel paper_set 25_english_q36
2[Option ID=30642]
3[Option ID=30643]
4[Option ID=30644]

Sl. No.37
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Aeration technique of water treatment iz used for the removal of

1. Persistant Organic Pollutants (POPs)
2. Volatile Organic Compounds (VOCs)
3. Hardness
4. Metals

1)1
(2) 2
(3) 3
(4) 4

SagieE ® araq wfafd &1 ygm Fefafea 8 9§ 69 gen & fau fearoman g 2

1. FeRumd e vgwe (dieih
2. SRR FEHS A @dlsid)
3. BRI
4.41g
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30645] Question Description : general_paper_genarel paper_set 25_english_q37
2[Option ID=30646]

3[Option ID=30647]
4[Option ID=30648]

Sl. No.38
QBID:25201038




Given below are two statements :

Statement I : Air Quality Index (AQI) is used to report to the public an overall assessment of a given day's air
quality.

Statement IT : Air Quality Index integrates air quality data for any two of the criteria pollutants into a single
number that represents the air quality of urban area.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II is correct.

1 1
(2) 2
(3) 3
(4) 4

4 g1 HuH fqu T &

HYF 1 : A UG GBS D T faU 1Y fa 1 argura & Y09 Yeaie & IR § Sdl &1 fdaxur
gaH & foe e fpar o g |

Y 11 : TG UG YEPID 39 TP Udbwl Jl H HIUeUs Fatll fdhgl &l Yguedl $1 arg T[ura< & &
(S2T) BT GG Bl 3, ol FRIT &7 B ar] T[uiadl &1 AaHioa i g |

SWRIK] HYH & 3l H, i f4U T fadedl & a8 Fugad Stk &1 98- SIT:

HYT I AR IS 98T € |
FHYFI RIS TAd g |
YR R, AT s TEd © |
HYF AT 8, AT HUT I FaT ¢ |

(1)1
) 2
(3) 3
(4) 4

[ S

e W b2 =

1[Option ID=30649] Question Description : general_paper_genarel paper_set 25_english_q38
2[Option ID=30650]
3[Option ID=30651]
4[Option ID=30652]

Sl. No.39
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Which of the following are examples of solar cells?

. Organic solar cell

. Nanoparticle solar cell
. Elemental solar cell

. Plastic solar cell

. Molecular solar cell

midn Wi

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2. A, BandD Only
3.B. Cand D Only
4, C, D and E Only

1) 1

) 2

3) 3

4) 4




IR o & Sexu Fefaf@a d aasa g

A BEAD IRIT
B. THI®HUIIRIA
c. diid® AR A
D. WiRe®d AR Id
E.

3fia® IR Id
i fGU T 9 et O 9§ 9a8 Iugad Stk &1 94 Hifoll :

1.HAA A, B IR C
2. HATA, B IR D
3.%ad B, C 3IRD
4.HAAC, D IRE
1
() 2
(3) 3
(4) 4

1[Option ID=30653] Question Description : general_paper_genarel paper_set 25_english_q39

2[Option ID=30654]

3[Option ID=30655]

4[Option ID=30656]

Sl. No.40

QBID:25201040

When little rivulets of running water gather together and cut small channels in the soil, the process is called as
5

1. gully erosion
2. Sheet erosion
3. Channel erosion
4. Rill erosion
(1)1
(2) 2
3) 3
(4) 4

o WaTg! ofd &1 BIC] AlGHT U A1Y gl 81 9l ¢ SR Jal & deld 4 Bic oaar a4l o, 39 Uil
DI 1 Bl o § ?

. 3{GATCIHT 3UEq

. TRd 3MReA

. YUITE () 3URa
. &% Gl 3R
(11

(2) 2

(3) 3

4) 4

da Lo B =

1[Option ID=30657] Question Description : general_paper_genarel paper_set 25_english_q40
2[Option ID=30658]
3[Option ID=30659]
4[Option ID=30660]

Sl. No.41
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As per NEP 2020 Gross Enrolment Ratio (GER) is sought to be achieved to the extent of 50% by

. 2030
2035
. 2040
. 2047
1)1
(2) 2
3) 3
(4) 4

e La b =




IS e Aifd 2020 & STER FEfREd | 3 o 9y de god AP ST (Sl 5 HR) Bl 50% Bl
1 0% W Fe- o1 deg g fpar T g 2

2030
. 2035
. 2040
. 2047
1) 1
(2) 2
3) 3
(4) 4

[
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1[Option ID=30661] Question Description : general_paper_genarel paper_set 25_english_q41
2[Option ID=30662]
3[Option ID=30663]
4[Option ID=30664]

Sl. No.42
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The Universities of Caleutta, Bombay and Madras were to be set up on the model of

1. Oxford University
2. Cambridge University
3. University of London
4. University of Edinburgh
(1) 1
(2) 2
3) 3
4) 4

fgiferd forg Ofsa fea) W Fae a9 R T foyfaaeag &1 =it fear s r 2

1. 3feawie fayfaemeay
2. B fayfaema
3. @A - fasfaemam
4. ofs7ai - fay foemem
1) 1
() 2
3) 3
(@) 4

1[Option ID=30665] Question Description : general_paper_genarel paper_set 25_english_q42
2[Option ID=30666]
3[Option ID=30667]
4[Option ID=30668]

Sl. No.43
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Given below are two statements :
Statement I : NITI Aayog is neither a constitution body not a statutory body.
Statement IT : NITI Aayog is a policy think-tank of Government of India.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement II are False.
3. Statement I 1s true but Statement II is false.

4. Statement I 1s false but Statement II 1s true.

(1)1
) 2
(3) 3
(4) 4

H ey Rumue:

BYF 1 : T 315 1 315 AN A df Saue Femg g 2] gifafiies Fam g |
BYT L : TF AHTS 1 TS YR PR T U Hifd [daRe-Hea g |
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HYF IR 1A S |
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@) 1
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(2) 2

3) 3

(4) 4

1[Option ID=30669] Question Description : general_paper_genarel paper_set 25_english_q43
2[Option ID=30670]

3[Option ID=30671]
4[Option ID=30672]

Sl. No.44
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Given below are two statements :
Statement I : UGC-CARE List [ includes journals found qualified through CARE protocols.
Statement IT : UGC-CARE List I includes journals indexed in globally recognized data bases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement I is true.

R e fRumuE:
HYT1: ol - TSRS Gl 11 9 S Ffferd € o Tesms victerd & q1e 9 3ed url 71§
|

HYT 11 : o USRS G 11 & 3 9 3 00 Se1 391 J gEes o d aiad @ |
IRIF FYA & TG 1, Id [SUITE fdmed] H Tl IR &1 98- Hivid:

FUYIARIEH IR |

PYF I IR I A E |

FHUY TR, AP PUT 1 3T & |
FYF AT S, AT HYT I A |
1) 1

) 2

(3) 3

(4) 4
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1[Option ID=30673] Question Description : general_paper_genarel paper_set 25_english_q44
2[Option ID=30674]
3[Option ID=30675]
4[Option ID=30676]
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Which of the following are the logical steps for an instruction design system under MOOCs ?

. Policy analysis

. Need analysis

. Content analysis

. Learner analysis

. Assignment analysis

mdn w e

Choose the correct answer from the options given below :

A, B, C Only

.B.C.D Only
3.C.D.E Only
4. A, D, E Only

(1) 1

(2) 2

(3) 3

(4) 4

ko=




T (MOOCs) & Haild =T HEH e HUITel! & qessiTd 4aH Faad T 4 S I8 2

%
E:
:

9 feu e fgaed 1§ & 96 3R &1 984 Bifou -

1.$Ad A, B, C
2.%ddB,C,D
3.%9dC,D,E
4. PdAA,D,E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30677] Question Description : general_paper_genarel paper_set 25_english_q45
2[Option ID=30678]

3[Option ID=30679]
4[Option ID=30680]
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Read the following passage and answer question :

The global financial crisis that began in 2008 hit Europe almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of s0 many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their ereditors- and , in fact, the entire European economy.

Ffaf@d MY &1 U 3R UY &I 3T I |

T¥ 2008 H UR™ §U 34 fawiig ¥obe A TP 9@ HU1 Ydhe 4 T Y 1 GR1° B S{TLTd dgaraT |
RIS & 3% 4 & PuicR] 3 §9 99 TR B0 A0 4 3R 3% goH 4 sl gdia sl e ¥ |
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Which countries among the following had very high houschold borrowings ?

A. Portugal
B. Ireland
C. Greece
D. Spain

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B. Cand D Only
3.A.Cand D Only
4. A, Band D Only

(1) 1

2) 2

3) 3

(4) 4

Frafatad ¥ U i <20 1 R uRaRl iR e 3= Iemiai of 2

Tt

LRIICIR)
T

Onowp

14 fau U foeeti 7 € 9ad Sugad STk &1 99 Sifold :

1.$adA, B AR C
2.$ad B, C 3R D
3. ®Pad A, C3RD
4. $aA A, BARD
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=30681] Question Description : general_paper_genarel paper_set 25_english_q46
2[Option ID=30682]

3[Option ID=30683]
4[Option ID=30684]
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Read the following passage and answer question :

The global financial crisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland. Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece. however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both houscholds and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them. since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their ereditors- and , in fact, the entire European economy.

fgfafad TeiY @1 ud 3R Uy &1 SR ST |
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Given below are two statements :

Statement I : The debt crisis did not affect the richest European countries.
Statement IT : The debt crisis threatened only the debtors.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

BIEECRIE GRS

Y1 : BU YSHT 1 FallUD gTed GUg =11 1 gHIad 8] o |
HYTIL : B Udhe 3 Had BolaR] & [ Favl I 5T |

IRIF FYA & TG 1, id [SU Y fdmed] H Tl IR &1 98- Hivig:

FUYTI RIS TIE |

FHYF [ IR IS A |

PU TR, AP PUT 1 3T & |
4 FY I E, AT FYT I I E |

(1) 1

(2) 2

(3) 3

4) 4
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3[Option ID=30687]
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Read the following passage and answer question :

The global financial crisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland. Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece. however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both houscholds and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them. since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their ereditors- and , in fact, the entire European economy.
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Which countries among the following were the main Eurozone debtors in 2008 ?

Germany
Spain
France
Greece
Portugal

mUnwp

Choose the most appropriate answer from the options given below :

A, B and C Only

B. C and D Only
3.B.D and E Only
4 A B.C.DandE

(1) 1

(2) 2

(3) 3

(4) 4

fFafead @ 8 &1 9 < 2008 H 83 T6H HoigR 4 2

A. S
B. W
C. Wiy
D. gAH
E. Qo

12 AU 7Y fd et & 9 Fa8 SUgad SR &1 99 Pifoid :

1. FaAA, B 3R C
2.%adAB, C ARD
3. %dd B, D ARE
4.A,B.C.D3RE
1
() 2
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3) 3
(4) 4

1[Option ID=30689] Question Description : general_paper_genarel paper_set 25_english_q48
2[Option ID=30690]
3[Option ID=30691]
4[Option ID=30692]

SI. No.49
QBID:25201049
Read the following passage and answer question :

The global financial crisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their ereditors- and , in fact, the entire European economy.
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : In 2008 , Europe was quite susceptible to the global financial crisis,
Reason R : The global financial crisis immediately led to a major debt crisis in Europe.

In the light of the above statements, choose the most appropriate answer from the options given below :

Both A and R are correct and R is the correct explanation of A.

Both A and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

(4) 4
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3) 3
(4) 4
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SI. No.50
QBID:25201050
Read the following passage and answer question :

The global financial crisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their ereditors- and , in fact, the entire European economy.
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Failure on part of the debtors to pay loans would have risked

A. pension funds
B. investors
C. northern European banks

Choose the most appropriate answer from the options given below :

Aand B Only
B and C Only
A and C Only
A.BandC

e

1)1
(2) 2
3) 3
(4) 4
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1[Option ID=30697] Question Description : general_paper_genarel paper_set 25_english_q50
2[Option ID=30698]
3[Option ID=30699]
4[Option ID=30700]

Paper II : 1-Economics / Rural Economics /Co-operation / Demography / Development Planning/
Development Studies / Econometrics/ Applied Economics/Development Eco./Business Economics

Sl. No.1
QBID:11001

In case of two goods for which the MRS is zero or infinite, then the nature of goods is :

. Perfect substitutes

. Normal goods

. Perfect compliments
. Close substitutes

(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1
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1[Option ID=29701] Question Description : economics_economics_setl_english_q1l
2[Option ID=29702]
3[Option ID=29703]
4[Option ID=29704]

Sl. No.2
QBID:11002

Which of the following is not true?

1. Total effect of price change on consumption of a good is a combination of income effect and substitution effect
2. For inferior goods, income effect is always larger than substitution effect, in absolute terms.

¥

3. For corner solution MRS, # —

2
4. For a normal good both the income and substitution effect hold
(1) 1
(2) 2
3) 3

(4) 4
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=29705] Question Description : economics_economics_setl_english_q2

2[Option ID=29706]
3[Option ID=29707]
4[Option ID=29708]

Sl. No.3
QBID:11003

The negative network externality in which a consumer wishes to own an exclusive or unique good such as specially
designed sports car is:

. Bandwagon effect
. Tequila effect

. Snob effect

. Pigou effect

(1) 1

(2) 2

3) 3

4) 4
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2. efhar uHIg
3. |9 yH1g
4. G oI

(1) 1

(2) 2

(3) 3

(4) 4
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Sl. No.4
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When each player has chosen his or her optimal strategy given the strategy chosen by other player, the situation is referred to
as:

. Nash Equilibrium

. Wicksel's Equilibrium
. Prisoner's dilemma

. Co-operative Game
(1) 1

2) 2

(3) 3

(4) 4
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1)1
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2[Option ID=29714]
3[Option ID=29715]
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Sl. No.5
QBID:11005

A firm has the following total cost and demand functions: C= %03—?02 +111Q+50, Q = 100 — P. then find the profit
maximizing level of output (Q*) and maximum profit of the firm.

1. 50 and 100
2.111 and 2150
3.11 and 111%

4.7 and 84
(1)1
(2) 2
(3) 3
(4) 4
fodil Ul I FEfaRad S arTd SR T e fear e g :
c=%@3—?<}2+111 Q+50,

Q=100-p B, dl 3dGA (Ffd) (@*) & ISHTH AHPRI TR 3R BT I HEHad A F1d HIfoY|

1. 50 3R 100
111 3R 2150
11 3R 111%

.7 31X 84
1 1
(2) 2
@) 3
(4) 4
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1[Option ID=29717] Question Description : economics_economics_setl_english_q5
2[Option ID=29718]
3[Option ID=29719]
4[Option ID=29720]

Sl. No.6
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The condition of preferring a certain income to a risky income with same expected value is referred to as;

. Risk neutral

. Risk loving

. Risk averse

. Risk Premium
(1)1

(2) 2

3) 3

) 4
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(1) 1

(2) 2

3) 3
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3[Option ID=29723]
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Which one of the following is not a component of My ?

. Currency

. Traveler's cheque
. Commercial paper
. Demand deposits

I

1) 1
(2) 2
3) 3
(4) 4

FafRad § &9 Ud m, BT 9eh g1 © 2

1. Hal
2. S
3. G JUR (BIT)
4. HIT SHIU
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=29725] Question Description : economics_economics_set1_english_q7

2[Option ID=29726]
3[Option ID=29727]
4[Option ID=29728]

Sl. No.8
QBID:11008

The Keynes's animal spirits are closely associated with

. Past investment

. Current investment

. Aggregate income

. Aggregate expenditure

B R

(1) 1
) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=29729] Question Description : economics_economics_setl_english_q8
2[Option ID=29730]
3[Option ID=29731]
4[Option ID=29732]

Sl. No.9
QBID:11009

In the Mundell-Fleming model, the monetary policy will be more effective when there is

. Perfect capital mobility and flexible exchange rate

. Perfect capital mobility and fixed exchange rate

. Imperfect capital mobility and flexible exchange rate
. Imperfect capital mobility and fixed exchange rate
(1) 1

(2) 2

3) 3

(4) 4

HSd-FifiT argd wfded) §, difed =ifd iR sifers urd gt o ug gf -

1. Uit 1 guf fasiiedr 3R dikeR fafFma R
2. Yoft @ guf Trfcefierd iR fRR fafm &)
3. Uoil i gl Ti=Iiedr 3R drdaR [aHag &
4. ofl @7 3qui Tia=iiear $fR R o o
1) 1
(2) 2
3) 3
(4) 4

R

1[Option ID=29733] Question Description : economics_economics_setl_english_q9
2[Option ID=29734]
3[Option ID=29735]
4[Option ID=29736]

Sl. No.10
QBID:11010

If the two events A and B are not independent then which of the following is correct?

1. P(ANB) = P(A).P(B)
2. P(ANB) = P(A) -PB/A)
3. P(ANB) = P(A) -P(A/B)
4. P(ANB) = 1-PAUB)
(1) 1
(2) 2
3) 3
(4) 4
Qﬁ@[ﬂﬂmmnd B Wﬁ%ﬂﬁﬂﬁi@ﬂﬁaﬁ:{ﬂﬁ% |
1. P(ANB) = P(A).P(B)
2. P(ANB) = P(A) -P(B/A)
3. P(ANB) = P(A) -P(A/B)
4. P(ANB) = 1-P(AUB)
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29737] Question Description : economics_economics_set1_english_q10

2[Option ID=29738]
3[Option ID=29739]
4[Option ID=29740]

Sl. No.11
QBID:11011

The chain-weighted index is

. The total market value of goods and services produced in each year

. The percentage growth in real GDP

. A method for calculating changes in prices that used an average of base year from neighbouring years
. An Index that measures how the prices of goods and services included in GDP change.

B O R

@ 1




) 2
3) 3
(4) 4

SR HIR (I d¢S) Yadhid g :

g 94 1 Id1iGd axg 31l Ud Yarsii &1 $d a6k Jed
. ARIfdS Hebel B¢ TS H Ul fasr
Tl H gu uRadAl & uReber g U Ul fafty forad i gu anl 9 Heiftd snuray & ofied &1 wai fear S

|
4. U UHT GAH D 59T I T191 ST ¢ T b Te Idie § a¥gaii Ud Jaraii &l vl § $3 IRda giai g |

1)1
(2) 2
3) 3
(4) 4

L e

1[Option ID=29741] Question Description : economics_economics_setl_english_q11
2[Option ID=29742]
3[Option ID=29743]
4[Option ID=29744]

Sl. No.12
QBID:11012

If the consumption function passes through the origin and APC = MPC then it must be:

. Linear without any intercept

. Non linear without any intercept

. Linear with a negative intercept on the income axis

. Linear with a positive intercept on the consumption axis

R O

11
(2) 2
(3) 3
(4) 4

e IUHNT B Id Y ToRdl § 3R APC = MPC, dd Ug 3{d¥Y gl :

1. T et 3Ryl & IR
2. fomr ot sfeRies & IRIRGH
3. 31T 38 (Y3 TR BUNTEHD =iy & Iy Wh
4. JTHAT & (IR0 TS SRy D WY IAD
1) 1
(2) 2
3) 3
4) 4

1[Option ID=29745] Question Description : economics_economics_setl_english_q12
2[Option ID=29746]
3[Option ID=29747]
4[Option ID=29748]

Sl. No.13
QBID:11013

Find the producer's surplus when
Pgq=3x’— 20x+5
P,= 15 + 9x (x is the quantity)

. 400
.350
. 450
. 500
1) 1
) 2
(3) 3
(4) 4

W




g IdIad ARY (F9d) B J1d Diod oRH gg fear gl s
Pg=3x—20x+5

P 15+9x{x]:|ﬁ'f%)

e

400

500

col

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29749] Question Description : economics_economics_setl_english_q13
2[Option ID=29750]

3[Option ID=29751]
4[Option ID=29752]

Sl. No.14
QBID:11014

The demand function for good A is given by Q=100 — 2P, + 0.2 Y + 0.3 Pp. Find the income elasticities of demand Py =
6,Y =500,Pg =10

. 0.06
. 0.02
.0.52
.—0.06
(1) 1
() 2
(3) 3
(4) 4

Tl 9% A B AT UBR / BT, Qu = 100 — 2P, + 0.2 Y + 0.3 P [GAI AT,

O

Pa =6,Y =500, Pg = 10 TR AN &1 G-l (FHRYI) FTd Bifoid |

. 0.06
.0.02
52
.—0.06
(1)1
) 2
(3) 3
(4) 4

N O

1[Option ID=29753] Question Description : economics_economics_setl1_english_q14
2[Option ID=29754]
3[Option ID=29755]
4[Option ID=29756]

Sl. No.15
QBID:11015

Find the substitution parameter p(rho) of constant elasticity of substitution (CES) production function when the elasticity of
substitution (o) is greater than one

.p=0
.p=1
ol Pl
0<p<w

B N R O

1)1
(2) 2
(3) 3
(4) 4




HitredTod @1 feR dig (@ § o9 Yd Swed e / Bed & S9 NiwIeE IHeTs & §1d $ifeie e 9w (o)
AT ] Afts e

Lop=10
Z.pi—1
3.-1<p=<0
4.0<p<ow
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29757] Question Description : economics_economics_setl_english_q15

2[Option ID=29758]
3[Option ID=29759]
4[Option ID=29760]

Sl. No.16
QBID:11016

In logit model, as the odds ratio decreases from 1 to 0, the logit becomes

. Negative
.Equalto 0
. Positive

. Fraction
(1) 1

2) 2

3) 3

(4) 4

difore Arsd (ufaed) ¥, afe YA 1 U o 81 Sl &, 9 dlfole gl Sl @

1. TS
2. Y & SRR
3. UHD
4. fo

1) 1

(2) 2

(3) 3

(4) 4

B O R

1[Option ID=29761] Question Description : economics_economics_setl_english_q16
2[Option ID=29762]
3[Option ID=29763]
4[Option ID=29764]

Sl. No.17
QBID:11017

Given regression model as Y; = a; + B4 X; +f2 (X; — X') D; + U; such a model is used to:

. Deseasonalise a quarterly time series data

. Seasonally adjust a monthly time series data

. To conduct chow test for structural break in time series data
. Test piecewise linear relationship in the data

B e A

1)1
(2) 2
3) 3
(4) 4

Iy, = ay + By X; +Bo X — X) D, + U; b &G H UTGTEA TS faan 71 g1 dl 39 UbR & JiSd &l wan Hgifbd 5 g

fhd gq fhar Sraig 2

1. ot aqufee v (@) 9oft sidst @1 9 (R) ARG d 940 |
2. AT 0 (breh) Uil s bl Higdl THGSH 6] |
3. qUY (DIl 4uil - sirs! o ERa-Tdd favd g 91 URIev & g |
4. 3fidrs H WedR IAD Hae g URIE |
1) 1
(2) 2




3) 3
(4) 4

1[Option ID=29765] Question Description : economics_economics_setl_english_q17
2[Option ID=29766]
3[Option ID=29767]
4[Option ID=29768]

Sl. No.18
QBID:11018

A player tosses two fair coins. He wins Rs. 5 if 2 heads occur, Rs 2 if | head occurs and Rs. | if no head occurs. Find his
expected gain.

1.Rs. 2
2.Rs.2.25
3.Rs5.2.75
4. Rs. 2.50

1) 1

(2) 2

3) 3

(4) 4

DI Radre! &l Ridd ISIadl ¢ | g Rdd & 2 IR g9 3 IR 5 JUL, 1 dR g3 3 UR 2 ¥UU 3R f&H1 g3 31T 1 ¥UU
Sitd (UTed) SITdT g | 39 I g1+ aTel (34férd) arH &l J1d it |

1. 2.00 ¥UU

1[Option ID=29769] Question Description : economics_economics_setl_english_q18
2[Option ID=29770]
3[Option ID=29771]
4[Option ID=29772]

Sl. No.19
QBID:11019

A card is thrown from a well shuffled pack of playing cards. Find the probability that it is either a diamond or a king.

17
2.
16
52
18
" 52
E
S
@ 1
() 2
3) 3
4) 4

a1 D Ul B bl ot avg ¥ el Tl Tt (Ahe) W TP Ul FHpTell ST € | 39 U g¢ bl Uil 81 3{Yd] 9152118
ERNEEARIRCEIEISEAIE

17
52
16
.52
18
52
15
52

L.
2

3.

4.

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=29773] Question Description : economics_economics_setl_english_q19




2[Option ID=29774]
3[Option ID=29775]
4[Option ID=29776]

Sl. No.20
QBID:11020

In simultaneous equation models, OLS can be applied directly if

. It is a recursive model

. Order condition is satisfied

. Rank condition is satistied

. Both order and rank conditions are satisfied
1) 1

(2) 2

(3) 3

(4) 4

IO FHIHI0 AT (i) H, 31 Tel T (OLs) DT U TG & o ol & Al -

1. 9% U UARIad- Hisd (UideT) gl

3?%(@?)%%@{@)%@
4.1 AR ID (@) aF! T TP (T Bl 2 |

(1)1
) 2
(3) 3
(4) 4

B O R

1[Option ID=29777] Question Description : economics_economics_setl_english_q20
2[Option ID=29778]
3[Option ID=29779]
4[Option ID=29780]

Sl. No.21
QBID:11021

The Rural Landless Employment guarantee Programme (RLEGP) was launched on :

. 15th August 1947
. 13th August 1950
. 15th August 1983
. 15th August 2000
(1) 1
(2) 2
(3) 3
(4) 4

YTHT0T YIS ASATR TRET BRIHH (3R T 3 Sl Ul e I fohar 7/ o1 2

R

5 HIRA 1947
ST 1950
S 1983
5 HIRd 2000

L S R
Lh

Lh

il
i1
vl
21

4=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29781] Question Description : economics_economics_setl_english_q21
2[Option ID=29782]

3[Option ID=29783]
4[Option ID=29784]

Sl. No.22
QBID:11022

The Foreign Trade Policy (2015-2020) was announced on which date ?

1. 1 August 2015
2.1 April 2015
3. 30 August 2015
4.30 April 2015
1) 1
(2) 2




3) 3
(4) 4

fq&=1 R Hifd (2015-2020) BT °INOT {4 dRIE &1 61 T8 41 2

1. 1 37T, 2015
.1 U, 2015
.30 3T, 2015

.30 3Ud, 2015

(1) 1
(2) 2
(3) 3
(4) 4

LIS T )

A

1[Option ID=29785] Question Description : economics_economics_set1_english_q22
2[Option ID=29786]
3[Option ID=29787]
4[Option ID=29788]

Sl. No.23
QBID:11023

Who was the chairman of 14th Finance Commission in India ?

. Dr. Vijay Kelkar

. DrY.V. Reddy

. Dr. C. Rangarajan
. Dr. N.K. Singh
1 1

(2) 2

3) 3

(4) 4

HRA & 14d Tad SN & e8] bid Y 2

B R

1[Option ID=29789] Question Description : economics_economics_setl_english_q23
2[Option ID=29790]
3[Option ID=29791]
4[Option ID=29792]

Sl. No.24
QBID:11024

Zamindari Tenure was introduced by :

1. Thomas Munro
2. Lord Cornwallis
3. H. Venkatasubbiah
4. G. Myrdal

(1) 1

(2) 2

(3) 3

(4) 4

SIHTERl Ul & YT [ o i 2

1. AT g R0
S DA
.U, dhe el
ol fiRs1d
(1) 1

(2) 2

3) 3

R TV




(4) 4

1[Option ID=29793] Question Description : economics_economics_setl_english_q24
2[Option ID=29794]
3[Option ID=29795]
4[Option ID=29796]

Sl. No.25
QBID:11025

Which of the following is true in case of the non-marketed environmental resources?

. Non excludable and non-rival in consumption
. Excludable but not rival in consumption

. Excludable and rival in consumption

. Non-excludable but rival in consumption

B R

(1)1
2) 2
(3) 3
(4) 4

TR-fqufurd yaiaruitg SareqT & AHd # Feiafad # e g1 fldeed Ugig ¥

1. SUHNT H TR-3Mggo1g 3R TR-Ufegs |
2. IUHTH g, eifds gfammelf g
3. JUHATH Yo 2R Ufaaaef |
4. IYHAT H TR-3Uasi-1, wifd uiaasf |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=29797] Question Description : economics_economics_setl_english_q25
2[Option ID=29798]
3[Option ID=29799]
4[Option ID=29800]

Sl. No.26
QBID:11026

Suppose 'X' places Rs. 8 value on one bread packet and "Y' places Rs. 6 value on it. If there is no tax on bread, then price of
bread packet is Rs. 5. so both X and Y choose to buy one packet each. Now suppose government levies a tax of Rs.. 2 per
unit, the price of bread rises to Rs. 7. Then the deadweight loss and tax revenue collected respectively are:

.Rs. 1 and Rs.
Rs. 2 and Rs.
Rs. 2 and Rs.
Rs. 1 and Rs.

=S N

(4) 4

AH Tl X U §18 & Udbe &1 Hed 8 ¥ (UiRd ol § 3R 'y 3D1 e 6 30 (iR S g 1 T s R
Bl DR el TSI § ol 98 b Udbe BT Hed 5 30T § | SHAY X 3Ry Uh-Udh Uepe Tiad 1 2@ e WHR 2
S Ui fAe B 1 el 8 dl 518 DI Gl dgobx 7 30U gl Slidl g | ol el YR I 3R YT R Ieied Hag: il -

13091 3R 2 ¥0
.2 BT 3R 4 30
.2 BT 3R 2 39
.1 30Y7 3R 4 39
(1) 1
(2) 2
(3) 3
(4) 4

S

1[Option ID=29801] Question Description : economics_economics_setl_english_q26
2[Option ID=29802]
3[Option ID=29803]
4[Option ID=29804]

Sl. No.27
QBID:11027




The component which distinguishes primary deficit from fiscal deficit is :

1. Non-debt component of capital receipt
2. Interest payment

3. Debt component of capital receipt

4. Revenue deficit

11

(2) 2

3) 3

(4) 4

FHRIa § U &1H U1 ged Ui 91 &I ASD NI b1 U (e Hdl g 2

TollvTd Uit &1 TRBU U
SIS YA

GoliTd Wit &1 B0 T
NEIERI G

B S I

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=29805] Question Description : economics_economics_setl1_english_q27
2[Option ID=29806]

3[Option ID=29807]
4[Option ID=29808]

Sl. No.28
QBID:11028

Which of the following is not an assumption or conclusion of the inflation targeting approach ?

1. Interest rate is the major instrument of monetary policy
2. Higher interest rate controls aggregate demand
3. Inflation is a supply side phenomenon
4. Quantity of money supply is not very effective in controlling inflation
(1) 1
(2) 2
3) 3
(4) 4

FafaRad o 9 & 991 SRR BRI Ui &l qaigarE a1 56y g1 ¢ 2

ST &3, Hifgep il T Ugd 9o g |
B‘E[Wﬂ?wmaﬁﬁﬁﬁﬁaﬂ?ﬂgl
eI MY 9& Y Gefd IReE gial g |
a{Tqﬁaﬁnm eI & Fifd B3 § 9gd gy Tl e € |

£ W

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29809] Question Description : economics_economics_setl_english_q28
2[Option ID=29810]

3[Option ID=29811]
4[Option ID=29812]

SlI. No.29
QBID:11029

In context of monetary policy. the sacrifice ratio refers to the

Interest cost arising because of crowding out effect

Loss of real value of money at the face of increasing inflation
. Output cost of reducing inflation

Labour cost raising minimum wage

2w =

(1) 1
(2) 2
(3) 3
(4) 4




Hifee =fifer & uRved # °1d & gurd Y g ¢ -

1. BNBRI U4 & HRU ATS-ANd H i gl

2. Fgdll HERWIT & FIue &l & dRdfdd Hed H HHl
3. ERWITd | HHI a1 B M1 arld

4. 41 ARTA & HRUIYATH Holgdl H 3l

1) 1

() 2

(3) 3

(4) 4

1[Option ID=29813] Question Description : economics_economics_set1_english_q29
2[Option ID=29814]
3[Option ID=29815]
4[Option ID=29816]

SI. No.30
QBID:11030

Which of the following formula is used to calculate the vield of treasury bills (T-bills) where
Y = Discounted yield
P = Price

D = Days to maturity

1 _ P=365=100
' PxD
9 _ Dx365x100
- PxD
3 _ (100 -P) x 365 x 100
' P=D
4 . (100 — D) = 365 = 100
: PxD
(1) 1
(2) 2
3) 3
(4) 4

fFafeiad & O {9 B &1 vai Ied N ol (&-fadh) & Uidwhd o1 701 63 & fofd fdbar Sirdr g Sigh
Y = 9Ed 316

P=Hd
D = URU&dI 3{ai

[ P x 365 x 100
Pac [
2 y= D> 365x100
PxD
3 y= (100—P) % 365X 100
PxD
4.y = (100-D) x 365 x 100
PxD
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=29817] Question Description : economics_economics_setl_english_q30

2[Option ID=29818]
3[Option ID=29819]
4[Option ID=29820]

Sl. No.31
QBID:11031

The faster growth and more equal distribution of income can be examined simultaneously by

1. Gini ratio

2. Poverty-weighted growth rate
3. Kuznet curve

4. None of the above




(1) 1
(2) 2
(3) 3
(4) 4

fafeiad fhad gRI Ggdiiad U I dig fahr (Agfs) 3R 310 & 34 G0 [GaRu &1 \id & ST ddhal g J

1. Tt srgura
edaar uikd gfg &=

5
3. Polle 9
4. SWRIad H Y DIS gl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29821] Question Description : economics_economics_setl_english_q31

2[Option ID=29822]
3[Option ID=29823]
4[Option ID=29824]

Sl. No.32
QBID:11032

Marx refers to the concept of organic composition of capital. Which one of the following ratios is used for this (where C is
constant capital, V is variable capital and S is surplus value)?

C
" W+S

o]

4.

1 1
(2) 2
(3) 3
(4) 4

IR = Gofl & Sifqeh Hered Bl Yehed ] BT Jeerd (Hat) fHa1 e | 39 ey FHafeRad 1 |1 Ueb 3FUId & (STel C.
R U 8, v, R UST 8 3R s, =N g ) 2

C
" W+S

r2

4.

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=29825] Question Description : economics_economics_setl_english_q32
2[Option ID=29826]

3[Option ID=29827]
4[Option ID=29828]

Sl. No.33
QBID:11033

Which of the following is not true in the case of externality?

. It is related to human interactions

. It 1s tied to consumer sovereignty

. It 1s based on higher order judgements of right and wrong
. It is an amoral concept

B O

1) 1
) 2
3) 3
(4) 4




I S ey # Fmfifad B 9 e udi 7818 2

1. I8 A4- 21 feparai O Yefid g

2. g JUHTAT YUHAT Y IgaG ¢ |

3. g el 3R 7Tad geei 3= wWRig fofal or eremRa gl
4. 98 U 3HfdPh hed 1 g |

o »

(3) 3

4) 4

1[Option ID=29829] Question Description : economics_economics_setl_english_q33
2[Option ID=29830]
3[Option ID=29831]
4[Option ID=29832]

Sl. No.34
QBID:11034

Compensating variation for a price decrease of a good can be interpreted as :

. Willingness to pay

. Willingness to accept
.Both 1 and 2

. None

1)1

(2) 2

3) 3

(4) 4

95 & god ¥ Bl g UdRSBRI TR D1 39 3U § ARATT [hdl ol Gl ¢ |

B R

1. YT B & Yid=d]
2. PR B & Ufd da=d
3.1 3R 2 qHl
4. Dls T =gl
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=29833] Question Description : economics_economics_setl_english_q34
2[Option ID=29834]

3[Option ID=29835]
4[Option ID=29836]

Sl. No.35
QBID:11035

Which of the following is an example of depreciation of natural capital?

. Restoring rivers rendered unusable due to dumping of industrial effluents

. Representation of areas that have been cleared for years of open-cut mining

. Pollution-control activities by the public sector such as municipal waste treatment
. Detoxifying unusable soils for urban or rural development

B R

(1)1
) 2
(3) 3
(4) 4

frafeiiad @ ¥ &9 Wbl Yol b Hedgrd &1 Udb 3algvl g 2

1. SENfE TRl &I - & HRUT UGG o T Al &1 SviER |

2. Had (139d) - & SR ANT 3§ @Tell US U &3 BT YA |

3. TR UiRIE FAUCH & S8 GrdeiHe &7 §RT gyl - o fdfafemd |
4. QIR0 Y1 UTHIU] (9 TY g Uy gal BT SUdR (HiduiaRon) & |

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=29837] Question Description : economics_economics_setl_english_q35
2[Option ID=29838]
3[Option ID=29839]
4[Option ID=29840]

Sl. No.36
QBID:11036

Equivalent variation for a price increase of a good can be interpreted as:

Willingness to pay

. Willingness to accept
Both 1 and 2

. None

1) 1

2) 2

3) 3

(4) 4

fodil 9% & Heu-gis 8, YAded YRl &I 34 34 H ARATU a1 Sl Ghdl § 2

el e

1. YITdH B & Yid dardl
2. WIEHR B P Ufd TRl
3. YITAH B & Ufd TRl 3R THR B3 & Ui Tl Gl
4. D8 T =gl
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=29841] Question Description : economics_economics_setl_english_q36

2[Option ID=29842]
3[Option ID=29843]
4[Option ID=29844]

Sl. No.37
QBID:11037

According to the specific factors model, which of the following is correct?

1. Trade benefits the factor specific to the export sector of each country but hurts the factor specific to the import-
competing sectors with ambiguous effects on mobile factors
. Trade hurts the factor specific to the export sector of each country and also hurts the factor specific to the import-
competing sectors, with ambiguous effects on mobile factors
3. Trade benefits the factor specific to the import sector of each country but hurts the factor specific to the export-
competing sectors, with ambiguous effects on mobile factors
4. Trade benefits the factor specific to the export sector as well as import-competing sector of each country, with
ambiguous effects on mobile factors.
1) 1
(2) 2
3) 3
(4) 4

fafP FRS (@H) Aled & AFOR FofRea ¥ ¥ eH-T e € -

b2

(31EF) FHTET aTd ad UiaeaeieRl &1 9 Gefid SR iy &1 369H Ugard g |
2. AR, Ydd &2 & Faid &7 U Yeiftd SRS (R B JH UM Ugdrdl § 3R 9d (TidRiiel) SRS R gudd
(3RYY) UHTAl dTel STd - Uiog el & ¥ eftd dReb fafiy &1 J6 ugardarg |

1! aTel fafd-ufensfer aet 9§ dafd R Gy & 3HuH vgda g |
4. R, U ¢ & dd dRDI W ggdd UHIE! d1dt Smard-ufaeeiart &= vd Fafd &= 9 defed R fafiy

DAY UGl g |

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=29845] Question Description : economics_economics_setl_english_q37

2[Option ID=29846]

3[Option ID=29847]
4[Option ID=29848]

1. ATUR, Ydd G2 & (81d &= ¥ Yeitd dRab (Hie) a1y & ar ugdrar g fbg 9d (@ifa=iie) SRS R ggdd

3. AR, m%m$mﬁmﬁwmaﬁwm§am%ﬁﬁaﬁmﬁsﬂawq?mﬂmm)




Sl. No.38
QBID:11038

What does 'immiserising growth' argued?

1. Export-biased growth by poor nations would worsen their terms of trade so much that they would be worse off than if

they had not grown at all
2. Export-biased growth by rich nations would worsen their terms of trade so much that they would be worse off than if

they had not grown at all
3. Import-biased growth by poor nations would worsen their terms of trade so much that they would be worse off than if

they had not grown at all
4. Import-biased growth by Rich nations would worsen their terms of trade so much that they would be worsen off than if

had not grown at all.
(1) 1
(2) 2
3) 3
4) 4

i Y (foriga 9afy) T as | g 2

1. R-Uud (@HER) FT g Fefa snuiva faer, ofs omr & w6l & aafie uftge cave) 59 e, e 3 o oft vioga @) grad ot &
AT, SR G e Wi [gerd wg! fdan |
2. Tud o=t gra i amurfa fawrs, SR @ 2 &f a7 e ufaga & 4, @ 9 ok o vfawe @ gred arel gt e, 2R g9

favgra Wt fawrg =37 foven |
3. TR-T97 <21 gR1 MW A1eia fae, OR 31 3l &1 371 21fUe uiiga a1 am, & 3 ofR 1 ufiga @) gad aeh g1 Seh, ofR g1

favpa o fder =g! fdvan ma |
4. HUF <20 R AT AU e, SR &t wal &f gaq 4fie uided o1 o, i 9 ok 2ft ufd Ta @ graa arelt g e g, o gH e

fovpa i [gera =gl fdean |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29849] Question Description : economics_economics_setl_english_q38
2[Option ID=29850]

3[Option ID=29851]
4[Option ID=29852]

Sl. No.39
QBID:11039

Which of the following postulates the Gravity Model correctly ?

1. The smaller and the closer the two countries are, the smaller the volume of trade between them is expected to be
2. The larger and the closer the two countries are, the larger the volume of trade between them is expected to be.

3. The larger and the closer the two countries are, the smaller the volume of trade between them is expected to be
4. The smaller and farther the two countries are, the larger the volume of trade between them is expected to be.

1) 1
(2) 2
(3) 3
(4) 4

frgfeiad o 9 &1 3fad arsd &l 9el & ¥ Sfirgid drdrg 2

1. ﬁ%ﬂﬁ%ﬁﬁﬁgﬁéﬁ IR FAFHeR BId 8. 3P A9 AR B AT a1 o] T (PH) TR W B B Ua
(UTIRIT) |
2. G SR O1qH 9 (@) 3R &R 8id g, 34 Hed AR &1 AT 3 6l od0d (da1) TR IR §iH i SAU&

(ST BRI |
3. @l SXT 57 9 () IR Fdbed Bld €. 3-dh Hed duR (&1 HE1 3d- &l adaR (6H) &R UR gl B! SUaT

(U=T) gt |
4.l T S AR & AR R 8Id 8, S U AR DI TEA1 Id- g1 10D (F9) TR W I B Y& (UT2M)

B |

1) 1
(2) 2
3) 3
4) 4

1[Option ID=29853] Question Description : economics_economics_setl_english_q39
2[Option ID=29854]
3[Option ID=29855]

4[Option ID=29856]




Sl. No.40
QBID:11040

If the nominal tariff rate (t) on consumers of the final commodity is 10 per cent, the ratio of the cost of the imported input to
the price of the final commodity in the absence of tariffs (ai) is = 0.8, and the nominal tariff rate on the imported input (t1) =
0, then find the rate of effective protection.

5%
8%
50%
10%

P

(1) 1
(2) 2
(3) 3
(4) 4

gie 3ifc yug (a¥d) & IUHiadisli R 3HifRId Ued &R (1) 10 WA= 8, Ueh| & 3uTd Bt f{Ufd o sifqn qvg ot
DIAd & foTu mfad fFHaR (SFT) BT AN BT ST (ai) = 0.8 TR 8. 3R ST Fa=1 (3FT) ( t) TR 3RS
e & = 0 8, A UHTd] IR0 Pl &R H1l HIFSAT |

5%
8%
50%
10%

P A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29857] Question Description : economics_economics_setl_english_q40
2[Option ID=29858]

3[Option ID=29859]
4[Option ID=29860]

Sl. No.41
QBID:11041

Which of the followings are true for ridge lines?

. they separate the relevant from the irrelevant portions of the isoquants

. along the ridge lines, the slope of the isoquants is either zero or infinite

. The relevant segment of the isoquants enclosed pertains to the stage IT of production for labour and capital

. Producers will never want to operate outside the region enclosed within the ridge lines.

. The marginal product of both inputs-labour and capital is positive but declines for the portion of the isoquants within
the ridge lines.

Mo n W

Choose the correct answer from the options given below:

A, Cand D only

B. C and E only

A, C.Dand E only
A, B,C,DandE only

e

1)1
(2) 2
(3) 3
(4) 4




RS drgH & ey H [afaiad § 4 &F 9 Y= gl g 2

A.d ¥ IATE! & UMD 321 DI U Sl § 3 Sl 3 |

B. o1 AIS1 U 9H 1G] &1 &Tef a1 ol Y Gl © U1 3FHA I 8 |

C. Yaq Y93 dIG! B Ui 9ed 47 AR Yol & e Sdre & fgdia =@Ro1 3 defid graig |

D. JdiGd 4l 4 Refes-l 9 foR &3 & drex e -1 Tl 91g |

Egﬁaﬂ?ﬁsﬂ.ﬁ&nﬁﬁfaﬂ@ﬂmdﬂlqudmda@m%,df&nrﬁﬂadlﬁr?i%ﬂﬂaimfmﬁf%w%mw
|

Hd feu e fadhedl # ¥ Ul IR &l 994 Pifole :

1.$dd A, C 3R D

2. $Badd B, C 3R E

3. Hdd A, C.D 3R E
4. $dd A.B,C.D 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=29861] Question Description : economics_economics_setl_english_q41
2[Option ID=29862]
3[Option ID=29863]
4[Option ID=29864]

Sl. No.42
QBID:11042

Which of the followings are true about a fair game or fair bet ?

A. The entry of a fair bet is zero

B. The person who accepts fair bet is said to be risk lover

C. expected value of income from the bet is equal to the same amount of income with certainty
D. The person who refuses a fair bet is said to be risk neutral

E. The person who refuses a fair bet is said to be risk averse.

Choose the correct answer from the options given below:

. Aand C only
.Band E only
. Cand D only
. Cand E only
(1) 1
(2) 2
(3) 3
4) 4

Sferd Ge 2R 3 96l & 9R # FERed # 4 S Y HUT TR 8 2

A. 3Fad 916l &1 Wiafe IR gidi g |

B. 3ad a6l I WiHR B dldd Al Pl SARGH-3=gb Dl Sl g |

C. dToil H YATRId 319 GFAYT 31 & RIS B g |

D. 3Td 961 & 3RAIGR &R ald aiad &l SIRaH dex] ®gl Sidl ¢ |

E. 3d 916l DI 3RATHR B dlcl Afdd Bl SIaH - 3D Dol odl g |

=i 3T U fashedl # ¥ Ul 3R &1 994 Hifie :

. Had A 3R C
2. Had B 3IRE
3. ddd C 3R D
4. dad ¢ ARE

(1) 1
) 2
(3) 3
(4) 4

B R




1[Option ID=29865] Question Description : economics_economics_setl_english_q42
2[Option ID=29866]
3[Option ID=29867]
4[Option ID=29868]

Sl. No.43
QBID:11043

According to the modern theory of rent

A. All the factors may earn rent

B. Rent can only be earned in long-run

C. Transfer earning of an unused factor is zero

D. Only land can earn rent

E. Entire earning of an unused factor is economic rent.

Choose the correct answer from the options given below:

A, B and C only

A, C and E only

. C and E only

4. A, C and D only
(1) 1
(2) 2
3) 3
(4) 4

SYHD TH fHGid & IR

A. QU BR& T SHiSid IR Gdhd g

B. T ddd Sleidie H Hfold fhal ST qahdi g |

C. UK DRP Pl R0 G L B 6 |

D. Dad YH TIH 3ffoid HR ghdl g |

E. [T ugdd SRS $I AYuf 3 ot o1ty @ el Sl g |

i feu 7T fawedl # U Ul 3R &1 994 Pifelg :

$Had A, B3R C
.Pad A, C IRE
.PddAB, C AR E
. Had A, C 3R D
(1) 1
(2) 2
3) 3
4) 4

1,
2,
3

N e

1[Option ID=29869] Question Description : economics_economics_setl_english_q43
2[Option ID=29870]
3[Option ID=29871]
4[Option ID=29872]

Sl. No.44
QBID:11044

Rational expectations views include :

A. The market clearing rational expectations do not approach to the Phillips curve

B. Rational expectation as a theory of expectations

C. An emphasis on the credibility of policy makers

D. A preference for policy making rules rather than discretion
E. Generally insists that markets do not clear rapidly.

Choose the most appropriate answer from the options given below:

.B. C and D only
.Aand E only
AB.C.DandE
A, D and E only
1 1

(2) 2

3) 3

B o R




(4) 4

AfFayl yerRmel & faeR & fia g -

A. IT9IR SR He¢t gfdaqol Tt fbfad 9 & 390 A8l gl g |
B. yamrnai & fgid & U 4 gidaqul garn

c. ifa Fafarsit @1 faya-aa ) 5d

D. Tad® (Tu=) B e HaFToeR Faal gq alidr

E. YWRId: §9 TR Jafeal Sl ¢ & SR gl adids 9 2ifed 78l gl 8 |

i fau U fadhedl § U Ul 3av &l 994 Bifolu :

1. Had B, C3IR D
2. Had AR E
3. Hdd A, B,C.D 3R E
4. HAAA. D 3IRE
1 1
@) 2
3) 3
4) 4

1[Option ID=29873] Question Description : economics_economics_setl_english_q44
2[Option ID=29874]
3[Option ID=29875]
4[Option ID=29876]

Sl. No.45
QBID:11045

In the budget at glance, which of the following items are included ?

A. budget estimate of the current year

B. Revised estimate of the current year

C. Actuals of the current year

D. Actuals for the preceding year

E. Budget estimate for the forthcoming vear.

Choose the most appropriate answer from the options given below:

. Aand D only

. A, B,Dand E only
. A, Band C only

. C and D only

(1) 1

(2) 2

(3) 3

(4) 4

aoie 3fe g |, FEfRad - Ag o gffflad sd g 2

A. 9dHM aY & goic Uldha

B. 9dAM ay &1 Y=NTET Urddhad
C. 909 3y &l aRAIdE Uradh e
D. fUgd 9y & felU aRdid® Urddhad
E. 3{Tcl 98 o fell Fofe Ulddhald

i fau TTu fadhedl # 9§ 9l IuR &1 994 Bifolu :

1. ®ad A AR D

2. ®hdd A, B.D 3R E
3. $ad A, B3R C
4. ®ad C AR D

1) 1
(2) 2
3) 3
(4) 4

B O R




1[Option ID=29877] Question Description : economics_economics_setl_english_q45
2[Option ID=29878]
3[Option ID=29879]
4[Option ID=29880]

Sl. No.46
QBID:11046

How do adverse technology shocks affect labour demand and supply?

A, Decrease the demand for labour

B. Both real wage and employment fall

C. Real wage increases and employment falls
D. Real wage falls and employment increases
E. Adverse effect on market equilibrium.

Choose the correct answer from the options given below:

1. A, C and D only
2.B.D and E only
3. A, B, Cand D only
4. A, B and E only

DIs Uicipa TIIDT ST, YH-H1T 3R 3MYfd DI H8 uHIad HRdl § 2

A. Y1 g Wi H DAt

B. IRdfdd Teigy] SR AR cHf § HHl

C. aRdfdd Toigel 1 gl 3R ISR § fTRTae
D. dRdide Helgd H R SR ISR H g
E. d19IR I (Hde) IR Uidhd gud

i feu 7T faweal # U Ul 3R &1 994 Pifele -

|.Had A, C AR D
2. HAd B, D AR E
3. $hdd A, B, C 3R D

4. HdA A, BIRE
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29881] Question Description : economics_economics_setl_english_q46

2[Option ID=29882]
3[Option ID=29883]
4[Option ID=29884]

Sl. No.47
QBID:11047

Which of the followings are correct in case of Poisson distribution ?

. 'n' the number of trials is indefinitely large i.e. n— =

.'p', the constant probability of success for each trial is indefinitely large
. np =m is finite

-y = mr+2 H}

-y, =m+3m*

Mg oW

Choose the correct answer from the options given below:

A, C and D only
A, C and E only
.B, C and E only
. B, C and D only
(1) 1
(2) 2
3) 3

R S




(4) 4

TEE fawu & Je @ Fefifa sR I 9 § 2

A Tfterr @ T n, o gl § #fdn — o

B. 7% Tia0 3 Iaa @1 fHald SuTeEdI, p, 3 gl § |
C.np=m AT I

D.uy;=m+2

IE.}14=n1—|-3n12

1.¥a@ A, C 3R D
2. %94 A, C 3RE
3.%ad B, C 3R E
4. ®ad B, C 3R D
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29885] Question Description : economics_economics_setl_english_q47
2[Option ID=29886]

3[Option ID=29887]
4[Option ID=29888]

Sl. No.48
QBID:11048

Which of the followings are correct conclusions without error in case of testing of Hypothesis ?

A. Reject null hypothesis (Ho), when it is true
B. Accept Ho, when it is true
C. Accept Ho, when Alternate hypothesis (Hy) is true.

D. Reject Ho when H; is true.
E. Accept Ho when Hj is false.

Choose the correct answer from the options given below:

. A, Band D only
.B. D and E only
.B. C and E only
. A, Cand E only
(1) 1
(2) 2
3) 3
4) 4

HIadh el & URIE01 o HerR | feiRad o ° &1 i 9 g e §

A. Y UTah e (Ho) b I Bl 4 IR Hi 2 3R R HT |

B. Ho & U g1 R WIHR AT |

C. Ho & 3 g1 IR 28 WIHR I, 9 (Alternative) Wb el (H;) T I,
D. H; & d §H W, Ho Bl AEHR X |

E.H; $ 30d 5 TR, Ho Bl WIHR HT |

=i feu U faded! © U gl SR &1 98- PHiforu :

|. A A, B3R D
2. HddB.D AR E
3.%dd B, C 3R E
4. HAA A, C 3R E

1 1

@) 2

(3) 3

(4) 4

e

1[Option ID=29889] Question Description : economics_economics_setl_english_q48




2[Option ID=29890]
3[Option ID=29891]
4[Option ID=29892]

Sl. No.49
QBID:11049

Which of the followings are correct for OLS estimation in the presence of Heteroscedasticity ?

A, The estimated coefficients are linear

B. The estimated coefficients are unbiased
C. The estimated coefficients are biased

D. The estimated coefficients are consistent
E. The estimated coefficients are efficient.

Choose the correct answer from the options given below:

. A, Cand D only
. A, Band D only
. A, Cand E only
. A, Cand D only
1) 1
(2) 2
(3) 3
(4) 4

faumfagiar &1 Sufkifd o fHu gU off Ud 99 39 & 9R | (Hafaiad &F 3 98l g 2

A. T ield T[0T D glId ¢ |

B. UTdd{eid Ul (a8 Bd ¢ |

C. WTahierd Ul e i gid B |
D. UG {erd 10T Yd gld ¢ |

E. T eid U el gl ¢ |

i fau U fadhedl § 9§ 9l 3av &l 994 Bifolu :

. Had A, C 3R D
. Had A, B3R D
. had A, C 3R E
.HIA A, C 3R D
(1) 1
(2) 2
(3) 3
4) 4

B O R

S R

1[Option ID=29893] Question Description : economics_economics_set1_english_q49
2[Option ID=29894]
3[Option ID=29895]
4[Option ID=29896]

Sl. No.50
QBID:11050

Which of the followings satisfy the assumptions of the classical linear regression model ?

A. Zero mean value of disturbance Ui

B. The explanatory variables and the error terms are not independent

C. Homoscedasticity or constant variance of Ul

D. No auto correlation between the disturbances

E. There is more than one exact linear relationship between explanatory variables.

Choose the most appropriate answer from the options given below:

. A, B, Cand D only
. A, C,Dand E only
. A, Cand D only
.C, D and E only
1 1

(2) 2

3) 3

(4) 4

B O R




fafeiad @ ¥ & wle g Rad Uaie- Aisd &l Qa4RUI &1 9P Hd g 2

A. TSRS i FTI A A

B. ARATID IR 3R iyl Ug WA g gl g |

C. vi 1 fauH faTiedr sryar Had gaRo|

D. (S d=l & A% $s W-Ygydy gl gidl |

E. 391 STReTTES IR & 091 U § +ffid 9eid I@d G gar g |

i fau e fadhedl § 9§ Ul IR &l 994 Bifolu :

1. Had A, B. C 3R D
2. $%dd A, C,D 3R E
3.Had A, C 3R D
4. ®HadC.D ARE

(1) 1

() 2

(3) 3

4) 4

1[Option ID=29897] Question Description : economics_economics_set1_english_q50
2[Option ID=29898]
3[Option ID=29899]
4[Option ID=29900]

Sl. No.51
QBID:11051

If A, B and C are three different non-empty sets, then find which of the following are correct in laws of set operations ?

A (A) =A

B. (AUB)=1-(ANB)

C. AU (BUC)=(aUB) UC
D.aU(BNC)=(ANB)UANC)
E.A-B=ANB’

Choose the correct answer from the options given below:

. A, Cand D only
. A, Cand E only
. A, Band C only
.C. D and E only
(1) 1
(2) 2
3) 3
4) 4

gl A, B 3R ¢ dH {4 TR-@relt (4R 8U) Y=y gl dl Y=g & il & w1 fFgfeied oH-9 ¥gi g 2

A (A =A

B. (AuB)=1-(ANB)

C. AU (BUC)=(AUB)UC

D. AuBNC)=(ANB)U(ANC)
E. A-B=ANB'

Hd feu T fadhedl § 9§ Ul 3ux &l 994 Pifolu :

1. Had A, C IR D
2. hadd A, C AR E
3.$hdd A, B3R C
4. Had C.D ARE

1 1

@) 2

3) 3

4) 4

R

1[Option ID=29901] Question Description : economics_economics_set1_english_q51
2[Option ID=29902]




3[Option ID=29903]
4[Option ID=29904]

Sl. No.52
QBID:11052

In multiple regression model, a hypothesis such as Hy: f; = 83 = 0 can be tested using

. I-test

. Chi-square test
. ANOVA test

. F-test

(1) 1

(2) 2

(3) 3

(4) 4

dgdd Uiaad "isd §, (A 8 U S Wab el ol Hy - g, = 8, = 0 [b Sifd B UG ¢ |

1. t-c8¥¢
2. Bl - YRR ¢NT
3. ANOVA NG
4. F-CNC
(1) 1
(2) 2
(3) 3
4) 4

B O A

1[Option ID=29905] Question Description : economics_economics_setl_english_q52
2[Option ID=29906]
3[Option ID=29907]
4[Option ID=29908]

Sl. No.53
QBID:11053

Which of the followings are the indicators of Human Development Index ?

A. Real GDP per capita

B. Adult literacy rate combined with enrolment ratio
C. Life expectancy at birth

D. Malnutrition under five

E. IMR under five.

Choose the correct answer from the options given below:

. A, B and E only
.B. C and D only
. A, Band C only
.C.D and E only
(1) 1
(2) 2
3) 3
4) 4

A4 (3R RUIE & FYfaRad &H-$H U ddbdd g 2

A. Ufdedfdd snutRd 9Rdfded Uohd 9 SdIG (Sied)
B. S SUTd Higd Ui &R a3

C. 5 & GUY Siia Y

D. Ui a8 &1 31 & -d & d=df F Uiyl

E. U I &1 g & -id & o= & RIggg &

1 3T U fashedl # ¥ Ul 3R &1 994 HIfig :

1. bAdd A, B3R E
2. $Had B, C AR D
3. Had A, B3R C
4. dad C.D3RE

@ 1

B O B




(2) 2

3) 3

(4) 4

1[Option ID=29909] Question Description : economics_economics_setl1_english_q53
2[Option ID=29910]

3[Option ID=29911]
4[Option ID=29912]

Sl. No.54
QBID:11054

Which of the following are correct for the Finance Commission ?

A. It 13 constituted under Article 380 of the Constitution

B. It is a statutory body

C. It 1s constituted under Article 280 of the Constitution

D. Prof. K C Pant was Chairman of 10th Finance Commission
E. Dr. Vijay Kelkar was Chairman of 14th Finance Commission.

Choose the most appropriate answer from the options given below.

.B., C and D only
. A, Band D only
.C.D and E only
. A, Cand E only
1) 1
) 2
(3) 3
(4) 4

frafciRad # 9 &I 9 fad smaiv & ey # 9g1 ¢ 2

A. THD] 5 AU & 3w¢ 380 & 3f=<T1id [HAT ST |
B. Ug Ud Wildl8® Hama g |

C. U8 TiqU & w96 280 P A1 A [ i g |
D. WTHER &, 91, U= fa< SR 10 d 3egef ¥ |

E. S1. faoia o fad 2mai 14 9 aremef ¥ |

i fau 7T fadhedl # U Ugl IR &1 994 Bifol :

. $ad B. C AR D
. $dd A, B3R D
. HadC, D ARE
. Had A, C 3R E
(1) 1
) 2
(3) 3
4) 4

B O R

S R

1[Option ID=29913] Question Description : economics_economics_setl_english_q54
2[Option ID=29914]
3[Option ID=29915]
4[Option ID=29916]

Sl. No.55
QBID:11055

Which of the following are true ?

A. Product taxes will raise prices less under monopoly than under competition

B. A tax on capital income tends to be progressive, whereas tax on wage income tends to be regressive

C. The burden of tax will be distributed between sellers and buyers in the ratio of elasticity of demand to that of supply.
D. A unit tax enters through a parallel downward shift in the supply schedule

E. Imposition of tax raises price and quantity.

Choose the most appropriate answer from the options given below:

. Aand B only

. A, Band C only

. A, B, Cand D only
. A, B, CandE only

B N




(1) 1
(2) 2
(3) 3
(4) 4

LSRR R

A. 3dTE R Uiaeay] & Rufd B 3Ue UHIiUsR $i fyfd & Siadl § o1 gig S |

B,;ﬂ@mmmwﬁaﬁasﬁﬁaﬂ?mﬂsm%m% HeTedl ¥ U 311 TR PR gIHH giH ®i 3R Uagd
g

C. 3MTYfd B G D1 i & 3FUTT H BR G1iid fdehdl Td dhell &b Heg [qUISTd g1 S |

D. 3MTYfd TR H B2 ShTs B, GHMR SHURTH! il & J14H Y Uidy Sl g |

E. GRRIGU Y Hd AR AT H I gl g |

il feu 0 fadedl # 9 999 3ugdd SR &I 999 HIfSIU:

1. Had A 3R B
2. Had A, BIARC
3. $%dd A, B, C 3R D
4. $Ad A, B, C 3R E
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=29917] Question Description : economics_economics_setl_english_q55
2[Option ID=29918]
3[Option ID=29919]
4[Option ID=29920]

Sl. No.56
QBID:11056

Which of the following are correct ?

A. A competitive market can secure efficient resource use in the provision of private goods, but market failure occurs in
that of social goods

B. Efficient provision of social goods involves horizontal rather than vertical addition of Individual pseudo-demand
schedules

C. To seek efficient provision of social goods, a political process of budget determination is needed

D. Corrective action may be needed when consumer choice is based on false advertising

E. There are mixed cases between the extremes of purely private and purely social goods.

Choose the most appropriate answer from the options given below:

. A, Band C only

. A, B and E only
A, B, Cand D only
A, C,DandE only
(1) 1

(2) 2

3) 3

(4) 4

R O




RN R EaE R C A R

A. Uil areiR ol axg el & gdy o Tre o GH1e] S Gardrgul START gRiEd $R Ydbdl 8. dfd- e
axg3il & A H doR [dhddr (6@ usdl g |

B. 9IS gl & Gafargul gdy o fevl-3fei -0 S04-GRIE! & [dv Wi IS1d & aelrd GHERi
ST AT SIS |

C. 9IS 93g3Hf & Gefdrgul Ue & foiu doie YR &1 sl Ufhar AT gidl ¢ |

D. 5 SUHIE &1 YHe IS A0 UR 31e1d gid § dl GURIEHD HridTs &I A dl gl Ydbdl g |

E. JUic: f5h 3IR quid: Sramsre aegsil &1 TRArfaal & &g fie-Sd A gl ¢ |

i feu U famedl # 3§ Yl Iugdd SR &I 99 DI

|.HaAdA. B AR C
2. HAdA.BARE
3. ®Hdd A, B, C 3R D

4. $Hdd A, C,D 3RE
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=29921] Question Description : economics_economics_setl_english_q56

2[Option ID=29922]
3[Option ID=29923]
4[Option ID=29924]

Sl. No.57
QBID:11057

Which of the following monetary measure is used to control inflation ?

A. The Central Bank purchases government securities from Commercial Banks
B. The Central Bank sells the government securities to the Commercial Banks
C. The bank rate may be raised

D. The bank rate may be reduced

E. Raising of cash reserve ratio.

Choose the correct answer from the options given below"

1. A, C and E only
2.B.C and E only
3. A, DandE only
4. Aand D only

1 1

(2) 2

(3) 3

(4) 4

el &1 (i &3 & forg faferiad | 9 g Higd o1 wai fog S |

A. B1g 4, qIiIed sl ¥ BT Ui @ied § |
B. ®a1g 4, AUy dbf ¥ WK wiaHfcai s=d g |
C. 4 &I G dgls ol Ydbdl g |

D. % &I G2 9IS ol Yabdll g |

E. e Rold SfuTd &l 9 |

- feu 7T fawedl # U Ugl SR &1 994 Pifold :

1. Pad A, C 3R E
2. ®Hdd B, C 3R E
3. Hdd A, D 3R E
4. Hdd A AR D

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=29925] Question Description : economics_economics_setl_english_q57
2[Option ID=29926]
3[Option ID=29927]
4[Option ID=29928]

Sl. No.58
QBID:11058

Which of the followings are correct in case of money market in India?

A. Commercial bill is a short-term instrument with high risk

B. Treasury bill is an instrument of short-term borrowing by the government with absence of default risk

C. RBI uses refinance to relieve liquidity shortages in the system

D. The RBI has switched over from daily fixed rate repos auction system to discriminatory price auction repos.
E. SLR enables to impose secondary and supplementary reserve requirements on the banking system.

Choose the correct answer from the options given below :

. A, B and D only
.B. C and D only
. B, C and E only
.C, D and E only
(1) 1
(2) 2
(3) 3
4) 4

URA | & (&) S9R & A § HEiead ¥ 8§ SH-91 ST 981 8 2

A. 91U fad U 3feUdblicidr] [eRad g foraH SST SliRad gl g |

B. NS f9d, TRBR gRI Seddlicied SHRI 61 fokad g fored g Siikgd g1 il |

C. JUITel! § dRdl & Sl § g9 & ot YR Reid d gafdauiyo &1 gam Hdi g |

D. YR ¥ord deh & G- i ax Ul e uume & ®iH W Fieqds Jod e 34l 3UHrS ¢ |
E. U9 Td 3R, ST YUIell TR 70 3R R HRIE SaFH il SERI0d S Jig a91a1 ¢ |

1 16T U fasedl H U gl 3R &1 999 ®I:

1. %dd A, B 3R D
2. $Had B, C 3R D
3. Had B, C 3R E
4. ®Had C.D 3R E

1 1

) 2

3) 3

(4) 4

B O R

1[Option ID=29929] Question Description : economics_economics_setl_english_q58
2[Option ID=29930]
3[Option ID=29931]
4[Option ID=29932]

Sl. No.59
QBID:11059

The causes and consequences of poverty include:

A. Unemployment

B. Low wages

C. Poor health

D. Low Population Growth
E. Low Literacy rates.

Choose the most appropriate answer from the options given below:

1. Aand C only
B. D and E only
C, D and E only

2.
3.B,
4. A, B, C and E only




(4) 4

feTaR & HROM 3R TRomE! # 2MHa §

A. RATR

B. ©H Hdl

C. TR Wy

D. B S-S g
E. BH IR X

=1 feu U fashed! | U gl SR &1 99 BHifore:

1. Pad A AR C

2. ®dd B, D AR E
3. $dd B, C,D 3R E
4. HAd A, B, C 3R E

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=29933] Question Description : economics_economics_setl1_english_q59
2[Option ID=29934]

3[Option ID=29935]
4[Option ID=29936]

Sl. No.60
QBID:11060

Measurement of income inequality is done by :

A. Gini coefficient
B. Lorenz curve

C. Palma Ratio

D. Deprivation ratio
E. Phillips Curve

Choose the correct answer from the options given below:

.Band E only

. Aand B only

. A, Band C only
. C and A only
(1) 1

(2) 2

(3) 3

(4) 4

3 H HH Pl FglRad & gRI AN SAT g |

A. -t T[oTip
B. AR d%

C. OTeHT U
D. d9 3{JUrd
E. fthferd ab

i fau 7T fadedl § 9§ 9El 3R &l 994 Bifolg:

|. Pad B AR E
2. %dd A AR B
3.$ad A, B3R C
4. dHadC AR A

1) 1
(2) 2
(3) 3
(4) 4

B O R




1[Option ID=29937] Question Description : economics_economics_setl_english_q60
2[Option ID=29938]
3[Option ID=29939]
4[Option ID=29940]

Sl. No.61
QBID:11061

Choose the correct statement for Schumpeter's theory of development.

A. Development is financed by real saving.

B. Capitalism keeps its character intact overtime
C. Development is evolutionary

D. Development creates inflation

E. Unlimited Supply of labour.

Choose the correct answer from the options given below:

1. Aand B only
2. C and D only
3. A, B, Cand D only
4, None of the above
11
(2) 2
3) 3
(4) 4

grdieR & faem figid & o agl dy g4 -

A. T3&™ &1 f4quvyl aRdfd® sa9d gRIgidl g |

B. JsildTe GO 30A1 IR SURdkid 90 TGl § |
c. faey, f[ahaE gl g |

D. [d® T ¥ GerEpifd BT o gl g |

E. 40 &I I 3Myfd

1 16T U fasedl H U gl 3R &1 994 SI:

&ad A AR B
.Had C ARD
. Had A, B.C 3R D

FHIU DI Tl

1)1
(2) 2
(3) 3
(4) 4

e SR SV R

1[Option ID=29941] Question Description : economics_economics_setl_english_q61
2[Option ID=29942]
3[Option ID=29943]
4[Option ID=29944]

Sl. No.62
QBID:11062

Which of the following are the features of Environmental Economics as a field of study ?

A. Tt has its roots in the theory of externalities and public goods.

B. It is based on neoclassical welfare theory

C. It envisions human economy as a sub-system of the biosphere

D. It engages with the law of transformations of matter and energy

E. It focuses on finding the most efficient ways to reducing environmental damages.

Choose the correct answer from the options given below:

1. A, B and C only
2.B. C and D only
3. A, BandE only
4. C,D and E only

(1) 1

(2) 2

3) 3




(4) 4

AU & &9 b =0 d Hgfaiad & 9 S gaiaxofig sz &f fagard § -

A. 3P Hd dTeldl 3R did fgd [sia 4 g g |

B. g 94 dalli¥dbd edUHR] HGid IR ARG 8 |

C. 39 U4 SHda®y] &l SeHsSd B SU-YUTHl & S H AHI Sl § |

D. U8 U1 3R Foll & TUiaR0l & a9 Y Ued § |

E. I8 WHiaRUg ShYI4! &l HH B & HaidH RIS didi Bl UItd 6 IR A dbigd HRg |

i feu U fadhedl § U UEl 3uR &l 994 BIfole:

1. HIAd A BARC
2. $Hadd B, C AR D
3. Hdd A.B3ARE
4. Had C.D 3ARE

1 1

@) 2

3) 3

4) 4

1[Option ID=29945] Question Description : economics_economics_setl_english_q62
2[Option ID=29946]
3[Option ID=29947]
4[Option ID=29948]

Sl. No.63
QBID:11063

Which of the following are the essential features of weak sustainability ?

A Tt considers human-made capital and natural capital as close substitutes.

B. It puts emphasis on the initial size of an economy since the size of the initial capital stock is considered relevant.

C. It requires from each generation to ensure that their actions do not compromise the productive capacity of the
generations to follow

D. the composition of the capital stock of an economy does not hold great significance

E. It renders natural capital as an absolute necessity for sustaining net national income over an indefinite period.

Choose the most appropriate answer from the options given below:

. A, Cand D only
. A, Band C only
.C, D and E only
. A, Band E only
1 1
(2) 2
3) 3
(4) 4

FHcIRad & ¥ ®lH HHGIR UHR & YR &1 Sif=ar fa=ivan g 2

A. U8 AHAFHT ol 3R Ui iad ol &l e RIMTH & 0 8 AHdi g |
B. U8 HYHATRI & RIS HDHR R & &dl ¢ | Fifds RIS Gofl Wi & AHR Bi Ui TH1 Sl g |

R e

é %WW%%W%Wﬁmm%%WWQ HId1 difed! Bl AT &Hd § GHS (THIfad
) THATYS |
D. 32T & Uoft Tl Pl U1 (Foe) 3ifid Agauuf 7S gl © |
E. ggmqpﬂﬁ%iﬁmaaﬁmﬁwq@n 3T Bl §1U 3G g (A 3TaRgadl & ¥4 H Udd Bl
|
4 feu e f[adedl § 9§ Ol IR &l 999 Bifoe:

1.$ad A, C 3R D
2. HAd A, B AR C
3. $HadC. DR E
4, Hdd A, B 3R E

@ 1




) 2
3) 3
(4) 4
1[Option ID=29949]
2[Option ID=29950]

3[Option ID=29951]
4[Option ID=29952]

Question Description : economics_economics_set1_english_q63

Sl. No.64
QBID:11064

A. Import quotas

C. Export subsidy

B O R

1)1
(2) 2
3) 3
(4) 4

Which of the following are part of non-tariff barriers ?

B. Voluntary export restraint

D. Compound tariff
E. Ad Valorem tariff.

Choose the correct answer from the options given below:

. A, Band D only
. A, Band E only
. A Band C only
. B, C and D only

A. 3Td Blel

frafeiad @ ¥ & TR-U=[edh d1em3fl & Ui g 2

B. Wlwsd (Hald @Ry
c. Frafa afeadl (g
D. A5l TR

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29953]
2[Option ID=29954]

3[Option ID=29955]
4[Option ID=29956]

E. HAOTTIR Ucdh
+d fau 7T fadhedl § 9§ UEl IR &l 994 Bifolg:

1. $dd A, B 3R D
2. ®Hdd A, B3R E
3. Had A, B3R C
4. Had B, C3ARD

Question Description : economics_economics_setl_english_q64

Sl. No.65
QBID:11065




Marshall-Lerner condition states that:

A. Devaluation will improve the country's balance of payments if the sum of price elasticities of demand for exports and

imports in absolute terms is greater than one.
B. Devaluation will increase the balance of payments deficit if the sum of the price elasticities of demand for exports and

imports is less than one.
C. Devaluation will have no effect on the balance of payment situation if the sum of the price elasticises of demand for

exports and imports is equal to one
D. In no case, devaluation can improve the balance of payment disequilibrium if either the price elasticities of demand for

export or that of import is zero.
E. Marshall-Lerner condition has no relation with BOP situation.

Choose the correct answer from the options given below:

. A, B and E only
.B, C and D only
.C, D and A only
. A, Band C only
(1) 1
(2) 2
(3) 3
(4) 4

ARId-a- A I8 axidl g T -

A. 3T ¥ &Y & YA Yo | GUR g, 920d b FRuer <f® 9 aid iR emard & foie qiv &t S iadl § di-
D1 T (JHe) ¥ S Tl |

B. aqa\cgriﬁ'%;mw G & °1e § gfes g, 2 o faid oiR smrd & fofu /iv &1 Siadl | i &1 g1 gfe
(Uh) HpHGI |

C. 3T BT YA Yo i T IR BIg UHIE 781 ST, 9274 fdb aid 3R 17T & Tl T &1 Hial § dd
DI U & RIS G |

D. %ﬁu‘ﬁr%mmaﬁm%muﬁﬁaﬁnﬁfﬁfﬁa - g dl Haqegd Tl fyfa o Yirae Ydea- § R el

I
E. Arefd a-R Rufa &1 &t off i fufg 9 1S gy g1 ¢ |

i faU U fd@eal § ¥ Ugl IR &1 994 SIf:

|.$ad A, B3ARE
2. Had B, C 3R D
3. Hadc. D3R A
4. HAA A, B AR C

1 1

@) 2

(3) 3

) a

B

1[Option ID=29957] Question Description : economics_economics_setl_english_q65
2[Option ID=29958]
3[Option ID=29959]
4[Option ID=29960]

Sl. No.66
QBID:11066




Match List T with List IT

LISTI LISTII

A |One firm sets its output before other firms do. I |Cournot Model

B. [Each firm correcr.l}' assumes hcm'. much its competitor will 1 [Betrand Model
lproduce and sets its own production level

C IFirms are reluctant to change price even if costs or demand ML [Stacketberg Model
change

D. Eac_h firm treats the price of its competitors as fixed and all firms IV [Sweezy Model
decide simultaneously what price to change. -

Choose the correct answer from the options given below:

. A-IILL B-IL, C-TV, D-1
. A-IIL B-IIL, C-TV, D-1
. A-IIIL B-1, C-IV, D-1I
. A-IL B-TIV, C-I1, D-I
(1) 1
(2) 2
3) 3
4) 4

Tt 1 1Y Gl 11 BT e Hifore

e

Tt I

T I
[Pz BH 30 Al J U5t U Il BT MR Sl
B
i BH 34 9 H Uel SFHH TRlid] ¢ 1 3Udl
B. [faee wH a1 Samed &l 3R i 394 3@me- | I [§<s Aisa
&7 Te g el & |
B0 [ Jadia- &I arTd & 7 5 Gidad- &1 el [ dmaa
Tl © | NIES
Ud® BH U4 Uiaeds] BH & BIAd ®i KU Al §
D. |3 fimx 93t v v Ty g Puifa axd & e oima | v e disa
7 fora afvad= fpar =g |

fgfeRad fd®edl ¥ U Igi 3R &1 994 Pl -

. A-III, B-II, C-IV, D-1I
. A-IL B-IIIL, C-IV, D-1
. A-IILL B-1, C-IV, D-II
. A-IL B-IV, C-I11, D-1
1) 1
(2) 2
3) 3
(4) 4

R

1[Option ID=29961] Question Description : economics_economics_setl_english_q66
2[Option ID=29962]
3[Option ID=29963]
4[Option ID=29964]

Sl. No.67
QBID:11067

Match List T with List IT

LISTI LISTII
A |Robert Solow I [Neoclassical growth theory
B. [Paul Romer and Robert Lucas| 1. [Unemployment - Output
C. |Paul Samuelson III. [Endogenous growth theory
D. |Okun IV, [Foundation of Economic growth,

Choose the correct answer from the options given below:

. A-IL B-IIL, C-1, D-IV
. A-L, B-1, C-III, D-IV
.A-L B-III, C-IV, D-II
AL B-1, C-1I1, D-1V
(1)1
) 2
(3) 3

e I




(4) 4

it 1h 91 Y1 11 1 e Hifore

T 1 I
A Ried g 1 [Haaig®] 9ig Heid
B. [UIcT AR R @< gobd] 1L [SRIGHTRT - 3ieA
C. [0ld YHeEH 111 [3fdeild qfg Rigid
D. [3d4 | v [onitles 9ieg Bl 1d

e fou e fadedt & 9 9 IR &1 99 ST

. A-II, B-III, C-1, D-IV
. A-L, B-II, C-III, D-IV
.A-L B-IIL, C-1IV, D-II
. A-IIIL B-L, C-I1, D-IV
(1)1
) 2
(3) 3
(4) 4

N

1[Option ID=29965] Question Description : economics_economics_setl1_english_q67
2[Option ID=29966]
3[Option ID=29967]
4[Option ID=29968]

Sl. No.68
QBID:11068

Match List T with List IT

LISTI LISTII
. [Detecting Serial Correlation I |Goldfeld - Quandt test
. [Detection of Heteroscadasticity] I [The Run’s test
. [Detection of Multicollinearity | III. [Ramsay's RESET test
. |Test of specification error IV. |Condition Index

w] Fe] [+=] b=

Choose the correct answer from the options given below:

. A-IIL B-1, C-IV, D-1I
. A-IL B-IV, C-1, D-III
. A-II, B-1, C-IV, D-III
CA-IV, B-1, C-III, D-11
(1) 1
) 2
(3) 3
(4) 4

el 19 1Y Yl 11 1 HeH e
T 1 Tl 11

[ Tid gegay &1 Udl o] L [Tieethes - e W&
[EEaiEaTRdl &1 udl aET | 11 (9 &1 odiem

[SEHgal @1 gl Al | 11 R @1 AR 3 w9 s o e
[AHeRE IR S odem |1V [FSRH se5 |

7 feU Y fadhed! o ¥ 91 SR &1 984 Hioie:

. A-IIL B-1, C-IV, D-II
- A-IIL B-IV, C-1, D-III
. A-II, B-1, C-IV, D-IIT
-A-TV, B-1, C-TII, D-II
1) 1
(2) 2
(3) 3
(4) 4

I O

olofw|x

e N

1[Option ID=29969] Question Description : economics_economics_setl_english_q68
2[Option ID=29970]
3[Option ID=29971]
4[Option ID=29972]




Sl. No.69
QBID:11069

Match List I with List IT

LISTI LISTII

A. Linear function I.

Exponential
" function

JLX
C. Quadratic function III.

0 -4

JLX

II.

D. Cubic function IV

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-1, D-III
2. A-L. B-1V, C-III, D-1I
3. A-IV, B-L, C-II D-III
4. A-IV, B-1II, C-II, D-I

1) 1

) 2

(3) 3

(4) 4




il [ & a9y @ 11 &1 e $ife

T 1 T I
¥
A I
BUTNEH ’
0
X
v
ErdeIGIEY
B-gem (I %
0
X
v
fgama
L I1I.
NG
0 -
X
v
EEIG]
D. Iv.
k|
0 -
X
g i o fgmeat § © o9 W @1 9 sifee
1. A-IV, B-1I, C-I, D-III
2. A-I, B-1V, C-II1, D-II
3. A-IV, B-1, C-II, D-I1I
4. A-IV, B-III, C-II, D-1
1
) 2
3) 3
(4) 4
1[Option ID=29973] Question Description : economics_economics_setl_english_q69
2[Option ID=29974]
3[Option ID=29975]
4[Option ID=29976]
Sl. No.70
QBID:11070
Match List T with List IT
LISTI LISTII
A Metzler Paradox | 1. [Violation of Stolper-Samuelson theorem
B. [Beachhead Effect] II. [Exporters mayv be reluctant to increase prices by the full amount of the dollar depreciation|
C. [Dutch disease III. [Loss of relative competitiveness in its traditional industrial sector
D. |1 Curve IV, [Nation's trade balance may actually worsen soon after devaluation or depreciation.

Choose the correct answer from the options given below:

CA-IL B-IIL, C-TV, D-1
CA-IILL B-IV, C-11, D-I
. A-L B-1I, C-ITIT D-IV
ATV, B-III, C-11, D-1
(1) 1
(2) 2
(3) 3
(4) 4

e I




el 1 I1Y Yl 11 &1 [HeH $ifore
Tl 1 T 1

[HeteR faRreTHm| 1 [Reloer - SRias- UHY @ SHldshHm

EEFRDIC] 1L [Faiad SieR Heagrd &1 9ol 5T (3180 Y S1Hdl H di & Uid Hi-d ol 9dd ¢ |
EEE] 1L [0 WORIT A &3 H GIuiaie Uiaeaeidmdl & dHl

EEEd IV. [G21 &1 AR YdoH, HaHc a1 oI & o1d a1g | ddd H AR 9643 ol 9b|

o fou T el # @ 9gl SR &1 90 S

. A-II, B-III, C-IV, D-1
AL B-IV. C-11. D-I
. A-L. B-II. C-III, D-IV
ATV, B-III, C-11, D-1
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=29977] Question Description : economics_economics_setl1_english_q70
2[Option ID=29978]
3[Option ID=29979]
4[Option ID=29980]

Sl. No.71
QBID:11071

Match List I with List II

LISTI LISTII
A. Principal agent problem I. Use of resources are more than desirable
B. Moral Hazard Problem II. One's actions are unobserved but it can affect the magnitude of payment
C. Tragedy of commons  III. An individual pursue his/her own goal rather than the goal of the employer
D. Problem of Lemons IV. Sellers have better information about the product quality than buyers.

Choose the correct answer from the options given below:

1. A-IIL, B-1I, C-L, D-IV
2. A-TM, B-I, C-IV, D-1
3. A-IV, B-III, C-1D-II

4. A-I, B-1I, C-IV, D-III

(4) 4

T [ & 9 g 1 &1 e $ifee

Tdt I At Il
A. Tiftga wole visem 1. SareAf &1 sierfia soam 9 e Swan &
B. ORd 39S dieem 1. ol safda & $rl ) e ol ol Wil § cifded 39 YA @1 0T guTiEad §1 96 ¢ |
C. ool 3AIE a4 (1L ®is oafed Faear & 7eg & go™ Wd & a&9 S WISl &3 &I 7g1d $dl o |
D. Visew % 09 V. sharefl & gor1 | fasarsi & 9 Swg @ UEdl & 9R J Sgak JHeN gl § |

9 fGr T fAweni A © O TR &1 954 P

1. A-IIT, B-1I, C-I, D-IV
2. AL, B-11, C-IV, D-1
3.A-IV, B-III, C-1, D-II
4. A-1, B-1L, C-IV, D-ITI
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29981] Question Description : economics_economics_setl_english_q71
2[Option ID=29982]

3[Option ID=29983]
4[Option ID=29984]




Sl. No.72
QBID:11072

Match List T with List IT

LISTI LISTII
. [Launch of S&P CNX Nifty I Puly 1995
. [Establishment of Investor Protection Fund in NSE| I Mav 1998
. [Launch of NSE's website: www. nseindia.com 1. |April 1995
. [NSE recognized as a stock exchange. IV, |April 1993

wl [o] fos] b=

Choose the correct answer from the options given below:

AL B-IL, C-1, D-IV
AL B-I, C-11, D-IV
CA-IL B-IV, C-1I1, D-1
. A-IIL B-I1, C-TIV, D-1
1) 1
(2) 2
3) 3
(4) 4

el 1 I1Y Yl 11 &1 [HeH $ifore

A1 T 10
_ o5 US Ul 91 v U U] ] YHRY I [S[arg 1995
[0 00 § © o= GEU SN ®I SOl IL [A3 1998
[0 @éﬁ dQHlﬁrd www.nseindia com B THRY TI1 |30 1996
[T TE ol Wik U & &0 H Jr0d] UaH &1 73 | IV, [H0d 1993

o fou U el # @ 98l SR & 90 I

. A-III, B-II, C-1, D-IV
. A-III, B-1, C-1I1, D-IV
. A-II, B-TV, C-I11, D-I
CA-IIL B-II, C-TV, D-1
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=29985] Question Description : economics_economics_setl1_english_q72
2[Option ID=29986]
3[Option ID=29987]
4[Option ID=29988]

Sl. No.73
QBID:11073

Match List T with List IT

LISTI LISTII
. | Karl Marx 1. [Division of Labour
. |Adam Smith 1I. [Big Push Theory
R Rodan ITT. |Traditional Society
. |[W.W Rostow | IV |[Reserve army.

ole|w|=

Choose the correct answer from the options given below:

. A-IIIL B-IL, C-1, D-IV
.A-IV, B-1, C-III, D-1I
. A-L. B-IL, C-IV, D-II
.A-IV, B-1, C-II, D-III
11
(2) 2
(3) 3
(4) 4

W




el 1 I1Y Yl 11 &1 [HeH $ifore

T 1 T I
A [ore Jre L |35 &1 favreA
B [vsH &y 11 [ferT gy e
C. [ EH 111 [(RERFT G4
D. [S&y, Secy %eld| IV. [Rord STl

9 feu U f9ah el & U gt SR &1 984 DIl

. A-III, B-II, C-1, D-IV
.A-IV, B-1, C-III, D-II
. A-L B-III, C-TV, D-1
CA-IV, B-1, C-I1, D-1II
(1) 1

(2) 2

(3) 3

(4) 4

e

1[Option ID=29989] Question Description : economics_economics_setl_english_q73
2[Option ID=29990]
3[Option ID=29991]
4[Option ID=29992]

Sl. No.74
QBID:11074

Match List T with List IT

LIST I (States) |LIST ITI 2011 Population (in thousands)
R ajasthan 1 191276
Tamil Nadu 11 |68.548
West Bengal ITT. |72.627
. IMadhya Pradesh| IV [72,147

REE

Choose the correct answer from the options given below:

. A-IL B-1IV, C-1. D-11I
. A-IV, B-1I, C-1, D-III
AT B-1, C-IV, D-III
AL B-1, C-IV, D-II
11
(2) 2
3) 3
(4) 4

Tt 1h 1Y Gl 11 BT e Hifore

W

Tt 1 @) [FE 2011 § S9ES B9R )
A RIeri= I |o1.276
B. [dffTerg 11 [68.548
C. [migmdEma | fr.s27
D. [FEue™ V. [72.147

7 feu U faded! & U gl IR &1 98- Hifore:

1. A-II, B-IV, C-1, D-III
2. A-IV, B-1I, C-1, D-III
3. A-IL, B-L, C-IV, D-III
4. A-II1, B-1, C-IV, D-II
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=29993] Question Description : economics_economics_setl_english_q74
2[Option ID=29994]

3[Option ID=29995]
4[Option ID=29996]

Sl. No.75
QBID:11075




Match List T with List IT

LIST I Organization|LIST II Year of Establishment|
A |NABARD L 1964
B. [[FCI 1. |1955
C. IDBI 1ML J1948
D. [IcICI V. J19s2

Choose the correct answer from the options given below:

I. A-I. B-IV, C-III, D-II
2. A-II, B-1, C-IV, D-III
3. A1V, B-II, C-1, D-II
4, A-III, B-II, C-1, D-IV

1) 1

) 2

(3) 3

(4) 4

el 1 I1Y Yl 11 &1 HeH Pifore
T 1 (R ﬁ'rﬁnmmaﬂ)
SEIE

1964

S UE Ui iy | 1L [1955
3T S dll ATy 1 1948
o 91 amg 4t g | 1V [1982

9 fau U faded! & 9 91 IR &1 994 DT

A-LI B-IV, C-III, D-II
.A-IL, B-1, C-IV, D-IIT
A-TV, B-1II. C-1, D-II
A-III, B-1I, C-1, D-IV

o|a|w|s

e

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29997] Question Description : economics_economics_setl1_english_q75
2[Option ID=29998]

3[Option ID=29999]
4[Option ID=30000]

Sl. No.76
QBID:11076

According to the IMF's World Economic Outlook report, arrange the estimated real GDP Growth rate (YOY) of the
following countries for the year 2021 in descending order.

A . USA

B. Germany

C. United Kingdom
D. China

E. India

Choose the correct answer from the options given below:

I.D.E,C,B. A
2.E,D,C,A.B
3;E,C.D.A.B
4.D,E,B,C,A
(1) 1
(2) 2
(3) 3

(4) 4




TS TH U &l 900 ShIIHSD H3eqd RUIE & 3R Faieiad <=1 &1 99 2021 &1 UIddhieid dRdfdd SiSidl ais
R (@Y 9R) b ARSI PHH Y |

A. g T SHRDI

B. ST

C. gA12es [hirsy

D.dH

E. YRd
Hd feu Tt fadhedl # 9§ Ol 3ar &l 994 Pifoie:

1[Option ID=30001] Question Description : economics_economics_setl_english_q76
2[Option ID=30002]
3[Option ID=30003]
4[Option ID=30004]

Sl. No.77
QBID:11077

Arrange the Nobel laureates in Economics as per their vear of receiving award in descending order.

A. Amartya Sen

B. Paul Krugman
C. James Tobin

D. Friedrich Hayek
E. Milton Friedman

Choose the correct answer from the options given below:

A B. 1B EE
2.E,C,A,B.D
3JALC.ED.B
4B.ACE.D

(1) 1

(2) 2

3) 3

(4) 4

Rl IRMRER @ SfU=IRd BT Aled RIDR U g & aY & IR RG] HH H Y |

A HH T4

B. UTd e

C. SIRg elfed

D. b3R® g
E. fieca wrssi

1 16T U fased! H U gl 3R &1 994 ®I:

A,

Pﬁﬁw

» D,
.oy
E;
L

£ b =
WUUJF‘:
Uw o m

B
A,
#B
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30005] Question Description : economics_economics_setl_english_q77
2[Option ID=30006]




3[Option ID=30007]
4[Option ID=30008]

Sl. No.78
QBID:11078

Arrange the following in descending order on the basis of year of starting the scheme

A. Jal Jeevan mission

B. Swachh Bharat Mission (Gramin)

C. Pradhan Mantri Awas Yojana (Gramin)
D. Pradhan Mantri Sadak Yojana (Gramin)
E. Pradhan Mantri Koushal VikashYojana

Choose the correct answer from the options given below:

1.B, G E DA
2.C,A,D,B.E
3.B,E.C,LA D
4. C,D,B.E. A

1 1

) 2

(3) 3

(4) 4

FafaRad o 3¢ YURY & a4 & YR 3aRig] (@16 Y Ugd) & HH 1 34 2

A. 9 994 foEH

B. ¥w% HRd fH2H (@i

C. UYTH Hdll ST ISTT (ATHI0T)
D. YT Bl ISP ST (ATHIT)
E. U Al DI [dHTY TSI

= feu T fa@edl # ¥ OEl 3R &1 994 Bifeie:

LB GED A
2.C,A,D,B.E
3:B.E.C,AD
4.C,D,B,E . A
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30009] Question Description : economics_economics_setl_english_q78

2[Option ID=30010]
3[Option ID=30011]
4[Option ID=30012]

Sl. No.79
QBID:11079

Arrange the followings in ascending order on the basis of Fund Allocation (Budget 2022-23)

A. Ministry of Railways

B. Ministry of Defence

C. Ministry of Agriculture and Farmers Welfare
D. Ministry of Road Transport and Highways
E. Ministry of Rural Development.

Choose the correct answer from the options given below:

LA, C, DD B.E
2.E,B,C,D A
3.C,E.A,D.B
4.B,C,D,E, A

1) 1

(2) 2

(3) 3

(4) 4




FgiciRad ®! [l sirded (S9ie 2022-23) & 3ATYR WR 3ARIGI HH H 3 :

A. X AT

B. Y& HATe

C. DY 3R [HHM DT HATH
D. Y3& URdgH 3R ISHRT HATed
E. TTHI0T fd1y HaArera

i feu T fadhedl § 9§ UEl 3R &l 994 Bifolg:

AC T BE

W
P
n e
grn
m oo
> W e

1[Option ID=30013] Question Description : economics_economics_setl1_english_q79
2[Option ID=30014]
3[Option ID=30015]
4[Option ID=30016]

Sl. No.80
QBID:11080

Arrange the following sources of revenue as per their share of contribution to total revenue in Union Budget 2022-23 in
descending order.

A. Custom Duty

B. Income Tax

C.GST

D. Union Excise Duty

E. Non debt capital receipts.

Choose the correct answer from the options given below:

1.E.B.C,D, A
2.E.C.B. DA
3.C.B.D,A.E
4.C,B,AD.E

(1)1

) 2

3) 3

(4) 4

dY 2022-23 g b d9I¢ & HIYUR, I & IR Gidl Bl Il el Aeizd T TRTGT b 3% & IR SHdRIg]
DU |

A HiH Yed

B. 3 B

c.oiggd

D. -1 JdIG Yo

E. TR-3BU YailiTd wiftaat

+d feU T fadhedl § 9§ OEl IR &1 99 Pifole:

By BLCG DA
CELE B DA
B.D.AE

1
2
3
4 B.A.D.E

G,
L,
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=30017] Question Description : economics_economics_setl_english_q80




2[Option ID=30018]
3[Option ID=30019]
4[Option ID=30020]

Sl. No.81
QBID:11081

According to CMIE data (September 2022), arrange the states in descending order based on unemployment rate

A. Haryana

B. Rajasthan

C. Jammu Kashmir
D. Jharkhand

E. Tripura.

Choose the correct answer from the options given below:

1.4,€C,D.EB
2.B,C,A,D,E
3.A,B,C,D,E
4.B,C,AE,D

(1) 1

(2) 2

(3) 3

(4) 4

i Tn 3112 3 & SHidps! (HdmWR, 2022) & YR HAfRAT I5Tl B dRISIRI & & SR R 3fdRig! o 1 3 :
A. giamn

B. YT
C. TH-HIHR
D. JRYUS

E. Fgu

1 fau 7T fadhedl § ¥ UEl 3aR &l 994 BIfolg:

LA CDER
2.B,C,A,D,E
3:A.B.C,D.E
4B, C.AED
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30021] Question Description : economics_economics_setl_english_q81

2[Option ID=30022]
3[Option ID=30023]
4[Option ID=30024]

Sl. No.82
QBID:11082

Arrange the states in ascending order based on population whe are multidimensionally poor as per NITI Aayog Report 2021.

A. Punjab

B. Kerala

C. Sikkim

D. Goa

E. Tamil Nadu.

Choose the correct answer from the options given below:




2021 @1 ifd AT B RU & YR FEfarad gl i Tgamar TRis! el S & YR HRig! hd H 3 -

A. U9

B. &3d

c. Fafemd
RIICI]

E. dfia-rg

d feu e faded! © § 9l TR &1 994 DIfSe:

LB DD GE A
2D EB C A
3:AE DB C
4.C,B,A.D.E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30025] Question Description : economics_economics_setl1_english_q82

2[Option ID=30026]
3[Option ID=30027]
4[Option ID=30028]

Sl. No.83
QBID:11083

Arrange the following policy rate (as on 31-12-2022) of the RBI in the descending order of their magnitude.

A. Repo rate

B. Bank rate

C.CRR

D.SLR

E. Reserve repo Rate.

Choose the correct answer from the options given below:

(4) 4

R o oS &1 FafaRad Fifavd & (31/12/2022 & STUR) BT fRigl HH A :

AU &R
B. d& &3
C. 9 3R 3R
D. TH Udl 3R
ERedyai R

I feu e faded! ® 9 91 IR &1 994 DT

1[Option ID=30029] Question Description : economics_economics_set1_english_q83
2[Option ID=30030]
3[Option ID=30031]
4[Option ID=30032]




Sl. No.84
QBID:11084

Arrange the following chronologically in order to their year of first occurrence starting from oldest:

A. Liquidity Preference Theory

B. Multiplier by R.F. Kahn

C. Division of Labour, Adam Smith
D. Quantity theory of Money. Fisher
E. Great Depression.

Choose the correct answer from the options given below:

LG, E.B.AD
2.E.D,C,B,A
3.B,CDEA
4.B,AD.C.E

1) 1

(2) 2

(3) 3

(4) 4

TRfSREd &1 Ueiad U URY $Hd U 3-7d YuH aR Uiduiicd (Sgifdd) 8 & a4 & S8R 3¢ BIahH-dR
FHARYT BT :

A. TRAdT aTdr R¥gid

B. 3R, U, I g a1 T [0

C. TSHRTY &1 99-f[qUTe

D. TR &1 Gl &1 4T (aikam) fagia
E. HETH]

Hd fau T fadedl § ¥ OEl 3R &l 994 PIfole:

> 0o

gong
nmw @
o = -

BN
W a

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=30033] Question Description : economics_economics_setl_english_q84
2[Option ID=30034]

3[Option ID=30035]
4[Option ID=30036]

Sl. No.85
QBID:11085

Arrange the following organizations as per their years of establishment starting from the oldest.

A WTO

B. ADB

C. UNCTAD
D. World Bank
E. WIPO.

Choose the correct answer from the options given below:

L BoE A
2.8, CE A
3.D.B,C,A.E
4.D,B,A,C.E

(1)1

) 2

(3) 3

(4) 4




fFafciRad STaHl Bl I7d RITHI I8 & IR UHHTH U URY $Rd gU 3¢ Adid HIfoU|

A. Sseg I aff
B.USIHl

C. 3fders

D. fdy d%

E. 34 37TS Ul 3l

i fau e fadhedl § 9§ Ul IR &l 994 Bifolu :

LD, C, B Ee A
2.1 B, 6 ELA
3.D.B e A E
4.D,.B,A,C.E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30037] Question Description : economics_economics_setl_english_q85

2[Option ID=30038]
3[Option ID=30039]
4[Option ID=30040]

Sl. No.86
QBID:11086

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A form of market failure results when products of different qualities are sold at a single price.
Reason R : A buyer and a seller possess different information about the product transacted.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A ls true but R is false

. A s false but R is true

1)1

(2) 2

(3) 3

(4) 4

s HUHYT (AssertionA]%Wﬁm%fﬁmmW{Reason R]%Wﬁ:

R N

a@%@mkGrq'\W-SWTgummaﬁdculq”[aﬁﬂa?élaﬁﬂﬂuﬁmw%ﬁiwucm»zﬁeﬂuﬂ-& f[mad 3
gl

HRUTR : al 3R fdshdl & I8 o-¢ [h T S dIet 3T & IR H 37el71- el JI-eRI gl § |

SWRIad HYA & ATdlD H, - [GU U [ddhedl H U Ugl 3R &l 99 Difoe :

1. A3RRGHI AT 3R R A DI I AN ©
CAJRREAI I T, AT R, A DI Tl ARAT Tol o
ATAE, APIR 3TTE
CATA G, dlPIRIT G

1) 1

(2) 2

3) 3

(4) 4

N VI

1[Option ID=30041] Question Description : economics_economics_setl_english_q86
2[Option ID=30042]




3[Option ID=30043]
4[Option ID=30044]

Sl. No.87
QBID:11087

Given below are two statements :

Statement I : When the level of investment is itself determined within the system then the effectiveness of monetary policy
is enhanced by an elastic investment and inelastic liquidity preference schedule, whereas the opposite holds for the
effectiveness of fiscal policy.

Statement IT : Monetary policy, by accommodating fiscal policy may forestall the crowding out etfect.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4

EIEEACRIC AR 1L

DHUF 1 : TId (02 BT TR a1 & Add o W Fuiid giar 8, df Afsd —ifd &1 THERied ®f dkeR Hag 3R
ﬂ?ﬁ]ﬂﬂﬁiﬂa’\éﬁmm%ﬁ qcIgdl Yl SR ST Sl 8, Said 396! f[qudid fRyfd difgd Hifd &1 nuraeiicdr & fiu
SUgE |

HUF 11 : ISDH N i B & H I@IHR d415 15 Hilgd HIid SRGR! UHE &1 Ugd U gl HaRm ax &l © |

SWRIad HYA & ATdD H, - [GU U [ddhedl H U Ugl 3R &l 99 DIl -

| PYTI R IS G g
2. FUF IR nGHl A
3. HYF 19 8. Al S 11 39 §
4. BUTI I E, Al FUA I T T
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30045] Question Description : economics_economics_setl_english_q87
2[Option ID=30046]
3[Option ID=30047]
4[Option ID=30048]

Sl. No.88
QBID:11088

Given below are two statements :

Statement I : Capital deepening is the process by which capital grows at a faster rate than labour and the capital labour ratio
rises.

Statement II : The growth of output per worker is result of technological change which decreases output per worker for a
given capital/labour ratio.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1 1
) 2
(3) 3
(4) 4




EIEAGEIE AR I
YT 1 : Uoil G-I 01 dg Ufehar 3 S8 gR1 %1 &1 dai-1 | ol 1 o &3 9 9fS 81dl § 3R Usil 91 Ul dgdi g |

HY 11 : U 4fHP e § 9 a1 URad & IR W0 gidl ¢ off fdt fau qu dsh/ 49 egurd & fem ufa
YfHD I I I8 |

SWRIdd HU & el H, i QU U [ddhedl § 9 Had Iudd 3R bl 98- DIfoiT :

| HYT 1R eI Ger g
2. HYF 1 AR 1 &HI TTdd ¢
3. HUT 1 U g, e U 11 7Tdd o
4. BYT 1770 5, i HYT 1 Tl o
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=30049] Question Description : economics_economics_set1_english_q88
2[Option ID=30050]
3[Option ID=30051]
4[Option ID=30052]

Sl. No.89
QBID:11089

Given below are two statements :

Statement I : Countries always want to have foreign markets open for their exporters. But if a country limits access to its
own market, foreign countries may take action to limit access to their own marlket.

Statement IT : Trade agreement can help lower barrier to international commerce, but countries still have to believe that other
countries are "playing fair".

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

(1)1

(2) 2

(3) 3

(4) 4

HY1: G ed U¢ T84 ¢ fob fagel IR 3+ Fafas! & fag |d 38 | afd afe 1S <21 30 Wd & 9Nk I
Ugd o THHd B Sl § ol 31 G U SR &1 HifAd & & U Sridig S ghd g |

BYT 11 : IR FAIAT 2HARPTY G0 Bl Sreaft bl H B H Hag B Yebdl g, dich [OhX HI G211 o1 g
BT BT b 2 =1 Ifd el HIIE T |

SWRIad HYA & ATAD H, Ad [GU U [ddhedl H U Ul 3R &l 989 DIl -

1. HYTI1R neH 9d g
2. FUF T AR N GH! AT ©
3. HYF 19d 8. Al S 11 39 g
4. HUTIAOI L, AT ST 1 Ia g
(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=30053] Question Description : economics_economics_setl_english_q89
2[Option ID=30054]
3[Option ID=30055]
4[Option ID=30056]

Sl. No.90
QBID:11090

Given below are two statements :

Statement I : The IS curve is negatively sloped because an increase in the interest rate reduces planned investment spending
and therefore reduces the equilibrium level of income.

Statement IT : The smaller the multiplier and the less sensitive investment spending is to changes in the interest rate, the
steeper is the IS curve.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
1) 1

) 2

3) 3

(4) 4

EIEEACRIC AR 1L

R

PY 1 : AT b BUNHD ST dIell Sl 8 Fifch o1 &R H i g1 W HISHITG Fa=1 o0d Hedl § 3R 396
TR W& 371 Yo &R 9edi @ |

DY 11 - [0Teh FoTeHT B1T R SR 21 o0 sa7e] &1 § URddl & ufd fSra-1 d8 Sdegiie g7, 313 TH dsb 31
ol 3ifI W31 aIet arel g |

SWRIdd U & HTelld H, Hid 3T U [ddhedl § 9 98 Iugdd 3R &l 98- DIfoT :

L PR 1A g §
2. HYT1 3R 1 &I 7TeTd 3
3. HYT 1S 8, b1 HYT 11 TTeId §
4. DY 1710 §, b HYUH 11 T8I §
1) 1
(2) 2
3) 3
4) 4
1[Option ID=30057] Question Description : economics_economics_setl_english_q90
2[Option ID=30058]

3[Option ID=30059]
4[Option ID=30060]

Sl. No.91
QBID:11091




Read the following passage and answer the questions.

The Nobel Prize in Economics in 2022 has been awarded to Ben S. Bernanke, Douglas, W. Diamond and Philip H Dybvig
"for research on banks and financial crises". One of the important findings in their research is why avoiding bank collapses
is vital. Saving must be chamnelled to investments for the functioning and growth of any economy. But there arises a conflict -
while the savers want instant access to their money for unexpected outlays, the borrowers need to know they will not be
forced to repay their loans prematurely. Diamond and Dybvig, show how banks offer an optimal solution to this problem.
Banks may act as intermediaries, who accept deposits from savers and allow access to their money, when they wish and also
offer long term loans to borrowers.But the analysis of these authors also shows banks are vulnerable to rumours and they
may lead to their imminent collapse, when a large number of savers simultaneously, run to a bank to withdraw their money- a
bank ran occurs and the bank collapses. such dangerous dynamics can be prevented through the government by providing
deposit insurance and acting as a leader of last resort to banks.Dimond demonstrated another societally important function by
a bank. Banks as intermediaries between savers and borrowers, are in a better position to assess a borrower's
creditworthiness and ensure that loans are used for good investments."The laureates insights have improved our ability to
avoid both serious crises and expensive bailouts."

“Fp! AR [l Toe” W A HUE FF & [ o T8 T, o709 Sw, SIgwds 3R oy Ta Smarsh &1 ad 2022 & wiwme # Aed TR
Wa a1 T 3 STHY &1 Uh gyl by ¢ [ ool & ATEd giH I Aeard B3 AgH Ji ol [ off aufere & srer 3R

e & fore o=dl &1 Faw o o 9 91t WY U6 oFafakiy I@d gial § — Jeie ggaddl Fdiga Tiead! o g 201 o qid I &l
TTEd g, SYR T aTdl o1 91gd § (o forg T8 3501 B 9H0 W U4 G &34 & [T 99 W gad o] S1al 99| SEHS R Srdre 98 WE $id
g o forg U d% 30 THW &1 SFAH ST T B o) 9 TN TEU% & 39 § &0 B Ood § o ggadbdiel ¥ 99 WeR $ed ¢ 34l
STHAr B TG TS+ W 3¢ S0 6 SUds] BN § 0T S SiudIieid B B GG BYd 51 Ui 37 aad! & azewy § I8 off Wy g g
% — do! T 2UaEel ¥ Uldpa THE 921 § R Mo Uidw § 391 faara Mo 96dl 31 94 991 920 § ggaadl 0o 91y 09 &4 oo &
o S & U 91d S 01 % b ®I alS T ol Wl § AR o Bl fearen Hdbd ol g1 91 4RI @ S gAY <@l AR dl 991 99T &1 ¢AaR
TIHR R T TS SHNHT &I US THdl gl SBHS A IHifed 2 3 A@Ud sd & o0 &Y &I Yeiid [&arl 99d Sdiefl iR SYR o
9El & 49 neEw 1 Yie FyF o & 30 ° d, SUR oF adl $1 B0 9PH 31 4T $1 dleed $i AR B BT IUA w5 Faw &
FT G B & oy dew Rl 3 8 31 5 TReR urasate #1 orael ¥ iR Yl #t adfd Jod teel § S99 & 5aRt grga J gUR
g 2l

What conflict do the bankers face while channelizing saving into investment?

. While the borrowers want instant closing of the loan, the savers wants systematic withdrawals.

. While the savers want instant access to their money, the borrowers want to repay their loans, only when it matures.
. While the savers want instant closing of the loan, the borrowers demand more loan than their credit worthiness.

. Both the savers and borrowers want to close the loan immediately.

R O R

1)1
(2) 2
(3) 3
(4) 4

F9qi B 9= & g wam ¥ §F J S & O Aay &1 QA S uSdl &

1. St SR THaTd B B 1 98 B 95d ¢, S9addl Faryd 94 | U AERA S 76d
2. Safd S9adl AU UF P id A S 9154 8, SUR < aTel IRUS g OR g 4F 9T 915d §
3. Wdfd SYR & aTdt BU1 B A 96 B3 T15d g, SYR OF aTe AT IHH B & ¥ S B0 B A1 B §
4. F9a%dl SUR o ald Gl B0 B id dg H7 915d 3|
(1) 1
(2) 2
3) 3
4) 4
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Read the following passage and answer the questions.

The Nobel Prize in Economics in 2022 has been awarded to Ben S. Bernanke, Douglas, W. Diamond and Philip H Dybvig
"for research on banks and financial crises". One of the important findings in their research is why avoiding bank collapses
is vital. Saving must be chamnelled to investments for the functioning and growth of any economy. But there arises a conflict -
while the savers want instant access to their money for unexpected outlays, the borrowers need to know they will not be
forced to repay their loans prematurely. Diamond and Dybvig, show how banks offer an optimal solution to this problem.
Banks may act as intermediaries, who accept deposits from savers and allow access to their money, when they wish and also
offer long term loans to borrowers.But the analysis of these authors also shows banks are vulnerable to rumours and they
may lead to their imminent collapse, when a large number of savers simultaneously, run to a bank to withdraw their money- a
bank ran occurs and the bank collapses. such dangerous dynamics can be prevented through the government by providing
deposit insurance and acting as a leader of last resort to banks.Dimond demonstrated another societally important function by
a bank. Banks as intermediaries between savers and borrowers, are in a better position to assess a borrower's
creditworthiness and ensure that loans are used for good investments."The laureates insights have improved our ability to
avoid both serious crises and expensive bailouts."

“Fp! AR [l Toe” W A HUE FF & [ o T8 T, o709 Sw, SIgwds 3R oy Ta Smarsh &1 ad 2022 & wiwme # Aed TR
Wa a1 T 3 STHY &1 Uh gyl by ¢ [ ool & ATEd giH I Aeard B3 AgH Ji ol [ off aufere & srer 3R

e & fore o=dl &1 Faw o o 9 91t WY U6 oFafakiy I@d gial § — Jeie ggaddl Fdiga Tiead! o g 201 o qid I &l
TTEd g, SYR T aTdl o1 91gd § (o forg T8 3501 B 9H0 W U4 G &34 & [T 99 W gad o] S1al 99| SEHS R Srdre 98 WE $id
g o forg U d% 30 THW &1 SFAH ST T B o) 9 TN TEU% & 39 § &0 B Ood § o ggadbdiel ¥ 99 WeR $ed ¢ 34l
STHAr B TG TS+ W 3¢ S0 6 SUds] BN § 0T S SiudIieid B B GG BYd 51 Ui 37 aad! & azewy § I8 off Wy g g
% — do! T 2UaEel ¥ Uldpa THE 921 § R Mo Uidw § 391 faara Mo 96dl 31 94 991 920 § ggaadl 0o 91y 09 &4 oo &
o S & U 91d S 01 % b ®I alS T ol Wl § AR o Bl fearen Hdbd ol g1 91 4RI @ S gAY <@l AR dl 991 99T &1 ¢AaR
TIHR R T TS SHNHT &I US THdl gl SBHS A IHifed 2 3 A@Ud sd & o0 &Y &I Yeiid [&arl 99d Sdiefl iR SYR o
9El & 49 neEw 1 Yie FyF o & 30 ° d, SUR oF adl $1 B0 9PH 31 4T $1 dleed $i AR B BT IUA w5 Faw &
FT G B & oy dew Rl 3 8 31 5 TReR urasate #1 orael ¥ iR Yl #t adfd Jod teel § S99 & 5aRt grga J gUR
R

‘What solution does the Diamond and Dybvig's theory offer to the conflict faced by the bankers while channelizing savings
into investments?

. Banks assure instant access to money to the savers and terminate long term project of borrowers

. Banks assure long-term finance to borrowers and terminate the savers' accounts

. Banks act as intermediaries that accept deposits from savers and allow them access to their money when they wish,
while also offering long term loans to borrowers

4. All the above options were offered by Diamond and Dybvig's theory

L

1) 1
) 2

3) 3

(4) 4

adl &I (92 & g Wi # A H dal gRTAHAT fdU o dlel Sf=didRle & (U fSoids oiiR Srfas baid § a1
Y fEarTar g

1. 4 Iaddbdisi ol &9 TP qid Ugd Y B 3R IYR o dral gRI e TRASHI & GaT B
2. 9%, IYR - drdl I AIBITD a0 14 B 3R F9d Dl DI Widl G DY
3. db UH TR Bl YHDT (HIT Sl Saddbdisl I ST ¢RI HHR DI 31 I7H1 381 g4 W 3 49 dh
G-I Ugd GHTHd B 91 IR o d1cl Bl Srefdbifcid H0 ©f URHY B
4. QW gt [adhed [So1iS iR SHfed RiGid H udd e w3
1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the questions.

The Nobel Prize in Economics in 2022 has been awarded to Ben S. Bernanke, Douglas, W. Diamond and Philip H Dybvig
"for research on banks and financial crises". One of the important findings in their research is why avoiding bank collapses
is vital. Saving must be chamnelled to investments for the functioning and growth of any economy. But there arises a conflict -
while the savers want instant access to their money for unexpected outlays, the borrowers need to know they will not be
forced to repay their loans prematurely. Diamond and Dybvig, show how banks offer an optimal solution to this problem.
Banks may act as intermediaries, who accept deposits from savers and allow access to their money, when they wish and also
offer long term loans to borrowers.But the analysis of these authors also shows banks are vulnerable to rumours and they
may lead to their imminent collapse, when a large number of savers simultaneously, run to a bank to withdraw their money- a
bank ran occurs and the bank collapses. such dangerous dynamics can be prevented through the government by providing
deposit insurance and acting as a leader of last resort to banks.Dimond demonstrated another societally important function by
a bank. Banks as intermediaries between savers and borrowers, are in a better position to assess a borrower's
creditworthiness and ensure that loans are used for good investments."The laureates insights have improved our ability to
avoid both serious crises and expensive bailouts."

“Fp! AR [l Toe” W A HUE FF & [ o T8 T, o709 Sw, SIgwds 3R oy Ta Smarsh &1 ad 2022 & wiwme # Aed TR
Wa a1 T 3 STHY &1 Uh gyl by ¢ [ ool & ATEd giH I Aeard B3 AgH Ji ol [ off aufere & srer 3R

e & fore o=dl &1 Faw o o 9 91t WY U6 oFafakiy I@d gial § — Jeie ggaddl Fdiga Tiead! o g 201 o qid I &l
TTEd g, SYR T aTdl o1 91gd § (o forg T8 3501 B 9H0 W U4 G &34 & [T 99 W gad o] S1al 99| SEHS R Srdre 98 WE $id
g o forg U d% 30 THW &1 SFAH ST T B o) 9 TN TEU% & 39 § &0 B Ood § o ggadbdiel ¥ 99 WeR $ed ¢ 34l
STHAr B TG TS+ W 3¢ S0 6 SUds] BN § 0T S SiudIieid B B GG BYd 51 Ui 37 aad! & azewy § I8 off Wy g g
% — do! T 2UaEel ¥ Uldpa THE 921 § R Mo Uidw § 391 faara Mo 96dl 31 94 991 920 § ggaadl 0o 91y 09 &4 oo &
o S & U 91d S 01 % b ®I alS T ol Wl § AR o Bl fearen Hdbd ol g1 91 4RI @ S gAY <@l AR dl 991 99T &1 ¢AaR
TIHR R T TS SHNHT &I US THdl gl SBHS A IHifed 2 3 A@Ud sd & o0 &Y &I Yeiid [&arl 99d Sdiefl iR SYR o
9El & 49 neEw 1 Yie FyF o & 30 ° d, SUR oF adl $1 B0 9PH 31 4T $1 dleed $i AR B BT IUA w5 Faw &
FT G B & oy dew Rl 3 8 31 5 TReR urasate #1 orael ¥ iR Yl #t adfd Jod teel § S99 & 5aRt grga J gUR
R

According to the laureates, what leads to imminent collapse of banks?

. Fraudulent behaviour of the borrowers

. Increasing competition in the banking sector

. When a large number of savers simultaneously withdraw their money

. When a large number of borrowers simultaneously borrow money from the bank

B e R

1)1
(2) 2
(3) 3
(4) 4

QRIBR UK il & IR [ R & debl 1 fadrell e giadbe gidi g

1. SYR W-dTcll &1 HUCYd g

2. difdoT &t o widegel | gig g

3. oid 991 G H dadddi Udh 91y 301 097 3RI&d &id g
4. 919 931 AT H IR ci-dle] U 1Y dh &b FU oldl ©
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Read the following passage and answer the questions.

The Nobel Prize in Economics in 2022 has been awarded to Ben S. Bernanke, Douglas, W. Diamond and Philip H Dybvig
"for research on banks and financial crises". One of the important findings in their research is why avoiding bank collapses
is vital. Saving must be chamnelled to investments for the functioning and growth of any economy. But there arises a conflict -
while the savers want instant access to their money for unexpected outlays, the borrowers need to know they will not be
forced to repay their loans prematurely. Diamond and Dybvig, show how banks offer an optimal solution to this problem.
Banks may act as intermediaries, who accept deposits from savers and allow access to their money, when they wish and also
offer long term loans to borrowers.But the analysis of these authors also shows banks are vulnerable to rumours and they
may lead to their imminent collapse, when a large number of savers simultaneously, run to a bank to withdraw their money- a
bank ran occurs and the bank collapses. such dangerous dynamics can be prevented through the government by providing
deposit insurance and acting as a leader of last resort to banks.Dimond demonstrated another societally important function by
a bank. Banks as intermediaries between savers and borrowers, are in a better position to assess a borrower's
creditworthiness and ensure that loans are used for good investments."The laureates insights have improved our ability to
avoid both serious crises and expensive bailouts."

“Fp! AR [l Toe” W A HUE FF & [ o T8 T, o709 Sw, SIgwds 3R oy Ta Smarsh &1 ad 2022 & wiwme # Aed TR
Wa a1 T 3 STHY &1 Uh gyl by ¢ [ ool & ATEd giH I Aeard B3 AgH Ji ol [ off aufere & srer 3R

e & fore o=dl &1 Faw o o 9 91t WY U6 oFafakiy I@d gial § — Jeie ggaddl Fdiga Tiead! o g 201 o qid I &l
TTEd g, SYR T aTdl o1 91gd § (o forg T8 3501 B 9H0 W U4 G &34 & [T 99 W gad o] S1al 99| SEHS R Srdre 98 WE $id
g o forg U d% 30 THW &1 SFAH ST T B o) 9 TN TEU% & 39 § &0 B Ood § o ggadbdiel ¥ 99 WeR $ed ¢ 34l
STHAr B TG TS+ W 3¢ S0 6 SUds] BN § 0T S SiudIieid B B GG BYd 51 Ui 37 aad! & azewy § I8 off Wy g g
% — do! T 2UaEel ¥ Uldpa THE 921 § R Mo Uidw § 391 faara Mo 96dl 31 94 991 920 § ggaadl 0o 91y 09 &4 oo &
o S & U 91d S 01 % b ®I alS T ol Wl § AR o Bl fearen Hdbd ol g1 91 4RI @ S gAY <@l AR dl 991 99T &1 ¢AaR
TIHR R T TS SHNHT &I US THdl gl SBHS A IHifed 2 3 A@Ud sd & o0 &Y &I Yeiid [&arl 99d Sdiefl iR SYR o
9El & 49 neEw 1 Yie FyF o & 30 ° d, SUR oF adl $1 B0 9PH 31 4T $1 dleed $i AR B BT IUA w5 Faw &
FT G B & oy dew Rl 3 8 31 5 TReR urasate #1 orael ¥ iR Yl #t adfd Jod teel § S99 & 5aRt grga J gUR
R

What do the laureates suggest to prevent rumours-led bank collapses ?

. Reduce lending

. Increase lending

. Collaboration with other banks

. Government should provide deposit insurance and act as lender of last resort.

B R

1)1
(2) 2
(3) 3
(4) 4

38l & HRUI debl DI Gard Hba ¥ aaM & ot GEHR ddrsif & 71 93114 fay

1. BV &4 § HH! TR

2. BV ¢ gfg B

3. 3 4Bl & 1Y TgaN B

4. TRPHR GRS R I 10T GREM SH I b1 & UMY ST ¢ BT G1GR S
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Read the following passage and answer the questions.

The Nobel Prize in Economics in 2022 has been awarded to Ben S. Bernanke, Douglas, W. Diamond and Philip H Dybvig
"for research on banks and financial crises". One of the important findings in their research is why avoiding bank collapses
is vital. Saving must be chamnelled to investments for the functioning and growth of any economy. But there arises a conflict -
while the savers want instant access to their money for unexpected outlays, the borrowers need to know they will not be
forced to repay their loans prematurely. Diamond and Dybvig, show how banks offer an optimal solution to this problem.
Banks may act as intermediaries, who accept deposits from savers and allow access to their money, when they wish and also
offer long term loans to borrowers.But the analysis of these authors also shows banks are vulnerable to rumours and they
may lead to their imminent collapse, when a large number of savers simultaneously, run to a bank to withdraw their money- a
bank ran occurs and the bank collapses. such dangerous dynamics can be prevented through the government by providing
deposit insurance and acting as a leader of last resort to banks.Dimond demonstrated another societally important function by
a bank. Banks as intermediaries between savers and borrowers, are in a better position to assess a borrower's
creditworthiness and ensure that loans are used for good investments."The laureates insights have improved our ability to
avoid both serious crises and expensive bailouts."

“Fp! AR [l Toe” W A HUE FF & [ o T8 T, o709 Sw, SIgwds 3R oy Ta Smarsh &1 ad 2022 & wiwme # Aed TR
Wa a1 T 3 STHY &1 Uh gyl by ¢ [ ool & ATEd giH I Aeard B3 AgH Ji ol [ off aufere & srer 3R

e & fore o=dl &1 Faw o o 9 91t WY U6 oFafakiy I@d gial § — Jeie ggaddl Fdiga Tiead! o g 201 o qid I &l
TTEd g, SYR T aTdl o1 91gd § (o forg T8 3501 B 9H0 W U4 G &34 & [T 99 W gad o] S1al 99| SEHS R Srdre 98 WE $id
g o forg U d% 30 THW &1 SFAH ST T B o) 9 TN TEU% & 39 § &0 B Ood § o ggadbdiel ¥ 99 WeR $ed ¢ 34l
STHAr B TG TS+ W 3¢ S0 6 SUds] BN § 0T S SiudIieid B B GG BYd 51 Ui 37 aad! & azewy § I8 off Wy g g
% — do! T 2UaEel ¥ Uldpa THE 921 § R Mo Uidw § 391 faara Mo 96dl 31 94 991 920 § ggaadl 0o 91y 09 &4 oo &
o S & U 91d S 01 % b ®I alS T ol Wl § AR o Bl fearen Hdbd ol g1 91 4RI @ S gAY <@l AR dl 991 99T &1 ¢AaR
TIHR R T TS SHNHT &I US THdl gl SBHS A IHifed 2 3 A@Ud sd & o0 &Y &I Yeiid [&arl 99d Sdiefl iR SYR o
9El & 49 neEw 1 Yie FyF o & 30 ° d, SUR oF adl $1 B0 9PH 31 4T $1 dleed $i AR B BT IUA w5 Faw &
FT G B & oy dew Rl 3 8 31 5 TReR urasate #1 orael ¥ iR Yl #t adfd Jod teel § S99 & 5aRt grga J gUR
R

According to Diamond, how do banks ensure that loans are used for good investments?

1. Since banks act as intermediaries between savers and borrowers, they have better idea about the creditworthiness of the
borrowers and hence can ensure loans are used for good investments.

. Since banks want to maximize profits, it can ensure loans are used for good investments

. Since bank want to benefit their customers, they can ensure that loans are used for good investment.

. Banks do not have enough information to ensure loans are used for good investiment

f o b2

1) 1
(2) 2
3) 3
(4) 4

STIHS & YR dh 3w 4= & o 4 &1 IuFIT ¥ AiEd B

1. 41 I, Fdd Befil 3R IGR o dTcll & sid R & ¥Y H DHIH Hd 8, T I8 IYR o dledl &l B0l
I DI & &b IR H bl SHBRI gldl ¢, YT d 3w 2 & o1U ¢+ &1 SUaiT gHiEd R ghd g

2. bl dh AT GATDT M dd 1 A1gd 5, SUU d 3fwd [ o o0 07 BT IHART HiGd & Thd §
3. b1 deb 3HTU UIGDI DI Y UM A18d 8, TG d 3w (42 & iU 3507 b1 IUANT YHiHd H bd §
4. dobl & Y U8 GMHiHd B & o1 waied STHSRT 731 Gl fdb o =1 & fe1u 501 &1 STIRT &l $e |
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India's Presidency of the Group Twenty (G-20) is a matter of great pride for all Indians. The G-20 is an intergovernmental
forum consisting of 19 countries such as Argentina, Australia, Brazil, Canada, China, France. Germany, India, Indonesia,
Italy, Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, United Kingdom and United States and
the European Union. The G-20 was founded in 1999 after the Asian financial crises as a forum for international economic
cooperation. The size of G-20 indicates its relevance in the global economy. The G-20 members represent around 85% of
the global GDP, over 75% of the global trade and 67% of world population. The G-20 summit is held annually under the
leadership of a rotating presidency. India assumed the G-20 presidency from Indonesia on December 1. 2022 and will
convene the G-20 leaders' summit for the first time in the country in 2023. The theme of India's G-20 presidency is
"Vasudhaiva Kutumbakam", that is, "One Earth, One family and One future" closely ties with LIFE (Lifestyle for
Environment). The G-20 presidency steers the G-20 agenda for one year and hosts the summit. The G-20 consists of two
parallel tracks : the Finance track and the Sherpa track. Finance ministers and Central Bank Governors lead the finance
track, while Sherpas lead the Sherpa track. India's G-20 priorities are Green Development, Climate finance and life;
Accelerated inclusive and resilient growth: Accelerating progress on SDGs: Technological transformation and Digital public
infrastructure; Multilateral institutions for the 21st century: and Women Led development. India kickstarted its presidency
term agenda with a series of initiatives and meetings. As a part of this, India will host over 200 meetings in over 50 cities
across 32 different work streams before conducting the annual G-20 summit in Delhi in September 2023. The 43 Heads of
Delegations, the largest ever in G-20 will be participating in the final summit. Conducting of this summit definitely
increases India's standing in the global order. It is a great opportunity to showcase India's cultural heritage. culture and
achievements to global leaders and India's commitment for global sustainable development.

HRA gRI YU ¢l (SH1-20) DT HLE TV D1 il YR & fe1T 7d &1 1d 1 Sfl-20 U 3R BRI Hd g o
19 GRI MY 1o 3SICTHT SRSTeT, STSiie, HrS, =i, hid, ST, YR, SSHIRMAT, Zeal SUH, HIRAT TR,
ORfichl, ¥4, G3ha! 3Rd, GIAUT hid], dbl, Jcs [biTsH SR JAI3e S oy dyl gRIuY 49 XMiad g1 TRrmE
forefia Wae & 18, Si-20 PRI TP SR 31T T & T & SUH 1999 T g3 41| 520 HT SR A%
srforaRray 7 g9a! Ui dT & <ifal 81 20 & Ya’T 859% fa%eT St 750 § 2tfee fafte R iR fay o
67% SITEAT DI Uidffed Hd g1 Sil-20 RS Yie IbTIhd AR TR & & & Add J 9t U Y friferd
BIAT g1 URA H 1 fETwR, 2022 & SSIHRAN Y Sil-20 1 3Hefdl U 1 g 3R 98 2023 H &= H Ugell IR Sil-20 &
137l BT RRIR GHIEH IS B | URd DI Sil-20 DI Sehed D1 7d (997 8- ~“Igid rad i Ui ~Th U],
U% URAR 3R U Hiaw a1 T8 (Life) (TAfaR0T & AU Siia el U FAdbe Jait 81 Sf-20 BT 2{eefd Uh 9y &
feTT Sii-20 1 TSiST FiRd BT § SR FRRGR F@e ol At il 31 ofl-20 H & GHMIGR AR e ¢ S fad
ArT 2R R A7 ¢ | 9 1 SR =i ddb & Ta-R fad A7 &1 Add Bid g Sidids TRUT A1 &1 A YT 6Hd g
HRA DI S1-20 WYHBAY § - U 9™, STerary fad 3R Siiad: @Rd SH1ER 3R YR [dbm: Tad [der gedf
(TESTSth W uid ¥ <ol A Weifia g uRad SR f3fSed e siadar. 21 9 9dl & fiu sgusia S,
3R ffgarsi & Add ¥ f[abr | YRd A 3 Ugdl 3R 98D1D 1Y T ST & DY DId b Tol ST DI TB3HTd B
cl gl SU SISl & Uh Y & ¥U H, YR RaweR 2023 ¥ faed! & Sil-20 &1 diftids FRRER 8¢ MEifid &4 9§ Ugd
32 fafir & Trarell & a9 4 50 4 3D T H 200 Y 3HUS dah! S AFEMH S| 34 BRI - & Sit20 &
3{d I & Ydiitd 43 ¥ dScl & TgE UF o7l | 2 FRRa YT &l SIS H Y 99 Ha § URd Bl ha
AT U T 971 3R Ig {9y & 131 & GHe YRd S Gl favrd, Shid 3 Iuaisl & Udd & adr
YD GeId fabM & T URA Bl UiddGdl DI G B UH 997 IR g

For which purpose G-20 was originally founded ?

to discuss international peace and counter-terrorism issues
to discuss global economic and financial issues

. to discuss climate change and environmental issues

. to discuss resolving the war between Russia and Ukraine

R
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(2) 2
(3) 3
(4) 4

Sil-20 1 RIMTHT URY & ¥ 3= & fau gs o 2

1. SRRIPT Wifd 2R Tl — Yol Hel R == 3 & g
2. aftyep 3 2R fomiia Tt R == oen & faul

3.Wgwﬁaﬁ3ﬁiuuﬁawﬁﬂafﬂﬂaﬁmaafaﬂﬁaaﬁm
4. 39 3R geb & d1d g b b Yoy T T i & g
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India's Presidency of the Group Twenty (G-20) is a matter of great pride for all Indians. The G-20 is an intergovernmental
forum consisting of 19 countries such as Argentina, Australia, Brazil, Canada, China, France. Germany, India, Indonesia,
Italy, Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, United Kingdom and United States and
the European Union. The G-20 was founded in 1999 after the Asian financial crises as a forum for international economic
cooperation. The size of G-20 indicates its relevance in the global economy. The G-20 members represent around 85% of
the global GDP, over 75% of the global trade and 67% of world population. The G-20 summit is held annually under the
leadership of a rotating presidency. India assumed the G-20 presidency from Indonesia on December 1. 2022 and will
convene the G-20 leaders' summit for the first time in the country in 2023. The theme of India's G-20 presidency is
"Vasudhaiva Kutumbakam", that is, "One Earth, One family and One future" closely ties with LIFE (Lifestyle for
Environment). The G-20 presidency steers the G-20 agenda for one year and hosts the summit. The G-20 consists of two
parallel tracks : the Finance track and the Sherpa track. Finance ministers and Central Bank Governors lead the finance
track, while Sherpas lead the Sherpa track. India's G-20 priorities are Green Development, Climate finance and life;
Accelerated inclusive and resilient growth: Accelerating progress on SDGs: Technological transformation and Digital public
infrastructure; Multilateral institutions for the 21st century: and Women Led development. India kickstarted its presidency
term agenda with a series of initiatives and meetings. As a part of this, India will host over 200 meetings in over 50 cities
across 32 different work streams before conducting the annual G-20 summit in Delhi in September 2023. The 43 Heads of
Delegations, the largest ever in G-20 will be participating in the final summit. Conducting of this summit definitely
increases India's standing in the global order. It is a great opportunity to showcase India's cultural heritage. culture and
achievements to global leaders and India's commitment for global sustainable development.

HRA gRI YU ¢l (SH1-20) DT HLE TV S il R & fo1w 7d &1 1d 1 Sfl-20 T 3R BRI 1 g o
19 GRI MY Teh 3SICTHT SRSTeTT, STSiiel, HrS], =i, hid, ST, YR, SSHIRMET, Zeal SIUH, HIRAT TR,
ORfih], ¥, G3ha! 3Rd, GIAUT hid], dbl, Jgcs [hiTsH SR JAIge S ey dyl JRIUY ¥4 i g1 Ui
faxita e & die, Sfi-20 B RITTT T SRR A1l GgaT & Ha & 34 H 1999 H g5 11 Sil-20 BT DR fay
SRy H 39! UGl & a=1dl g1 S11-20 & UG 85% (AT Sl 75% Y 3fivd [4f%® R 2R fay o1
67% SITEBAT DI Uidfed Hd g1 Sil-20 RS e IhTIhd AR TR & & & Add J aiffis U Y iferd
BIAT g1 YRA 1 SR, 2022 & SSIHRAN Y Sil-20 DI 3&fdl UgUT 1 g 3R 98 2023 H a2 H Ugell IR Sil-20 &
137l 1 RRGR T IS S| URd 61 Sil-20 DI Sehefd &1 7o [d9Y 8- “agid Srad i Ui T U,
T URAR 3R U YT ST A2 (Life) (TTTER0T & Te1U Sitad etl) Y FHde Ja¢ T1 Sil-20 B & TH a4 &
fe1U Sit-20 BT TolST FeRd Bl § 3R FRIRaR e & AoldHl Sl g1 Sit-20 H &l GHHIGR 9 2rdid § S fad
ArT SR U1 A7 ¢ | o Tt SR =i ddb o T1a-R fad A7 &1 g Bid g Sidich TRUI T &1 Adcd AT 6 g
HRA D1 S1-20 TYHBA § — U 9B, Serdryg [ad 3R Siia; dRd YH1ER 3R YR [dbmy:; ¥ad e gedf
(TESISth W uid ¥ <ol A Wreifia g uRad SR f3fSed qdefie s 21 9 9dl & fiu sgusia S,
3R ffgarsi & Add ¥ f[ahr™ | YRd A 3D Ugdl 3R 980D 1Y T & & DY DId b TolS] DI TB3HTd B
cl gl SU IS & Uh Y & ¥4 H, YR RaweR 2023 H feed!  Sil-20 &1 difties FRRER HieH 3MEifid &= 9§ Ugd
32 fafi & Trarell & ddo 4 5o U 3ifAd e H 200 Y HUF dah! B AT S| 34 RRER G- H Sit20 &
3{d I & Ydiitd 43 ¥ dScl & UGG UF o7l | 3 FRRa YT Bl SIS H Y 99 HaR § URd Sl ha
AT U T 971 3R Ig {9y & 131 & GHe YRd S Gl favrd, Shid 3 Iuaisl & Udd & adr
dTYD GoId fdbr & AT URA Bl Uiddgdl DI G B UD 991 IR g

Which one of the followings is not India's G-20 priorities?

. Multilateral Institutions for 2 1st century

. Women-led development

. Development and sustained border

. Technological transformation and digital public infrastructure.
(1) 1

(2) 2

3) 3

4) 4

fgfaRad § ¥ ®F @ YRd 31 Sil-20 WAHEHA T8l © 2

1. 2191 91 & foiu 9gueiig gwim

2. Afgaslt & A ¥ faHhy

3, THEN R gad [dary

4. U aRady 3R f&foed adui—e adeRHl

(1) 1
) 2
3) 3

B R




(4) 4

1[Option ID=30085] Question Description : economics_economics_setl_english_q97
2[Option ID=30086]
3[Option ID=30087]
4[Option ID=30088]

Sl. No.98
QBID:11098

India's Presidency of the Group Twenty (G-20) is a matter of great pride for all Indians. The G-20 is an intergovernmental
forum consisting of 19 countries such as Argentina, Australia, Brazil, Canada, China, France. Germany, India, Indonesia,
Italy, Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, United Kingdom and United States and
the European Union. The G-20 was founded in 1999 after the Asian financial crises as a forum for international economic
cooperation. The size of G-20 indicates its relevance in the global economy. The G-20 members represent around 85% of
the global GDP, over 75% of the global trade and 67% of world population. The G-20 summit is held annually under the
leadership of a rotating presidency. India assumed the G-20 presidency from Indonesia on December 1. 2022 and will
convene the G-20 leaders' summit for the first time in the country in 2023. The theme of India's G-20 presidency is
"Vasudhaiva Kutumbakam", that is, "One Earth, One family and One future" closely ties with LIFE (Lifestyle for
Environment). The G-20 presidency steers the G-20 agenda for one year and hosts the summit. The G-20 consists of two
parallel tracks : the Finance track and the Sherpa track. Finance ministers and Central Bank Governors lead the finance
track, while Sherpas lead the Sherpa track. India's G-20 priorities are Green Development, Climate finance and life;
Accelerated inclusive and resilient growth: Accelerating progress on SDGs: Technological transformation and Digital public
infrastructure; Multilateral institutions for the 21st century: and Women Led development. India kickstarted its presidency
term agenda with a series of initiatives and meetings. As a part of this, India will host over 200 meetings in over 50 cities
across 32 different work streams before conducting the annual G-20 summit in Delhi in September 2023. The 43 Heads of
Delegations, the largest ever in G-20 will be participating in the final summit. Conducting of this summit definitely
increases India's standing in the global order. It is a great opportunity to showcase India's cultural heritage. culture and
achievements to global leaders and India's commitment for global sustainable development.

HRA gRI YU ¢l (SH1-20) DT HLE TV 1 il R & fe1w 7d &1 1d 1 Sfl-20 U 3R BRI Hd g o
19 GRI Y Tdh 3l SRSTer, STSiiel, H-TS], =, Hid, ST, YR, SSHIRMAN, Z2al SUH, HIRAT TR,
ORfidhl, ¥, G3ha! 3Rd, GIAUT hid], dbl, JIgcs [hiTsH SR JAIge S ¥y dyl JRIUY ¥4 XM g1 TRrmE
faxita dehe & die, Sfi-20 B RITT T SRR A1 GgaT & Ha b 34 H 1999 H g5 11 Sil-20 BT DR fay
SiHATRIST H 3! UM dl & G=Idl 1 Sil-20 & UG 85% [AYDI Siisldl 75% U it [di¥d AR R fay o
67% SITEBAT DI Uidfed Hd g1 Sil-20 RS e IhTIhd AR TR & & & Add J aiffis U Y iferd
BT g1 YRA H | SR, 2022 & SSIHRAN Y Sil-20 1 &l UgUl Bl g 31K 98 2023 H a2 H Ugall IR Sil-20 &
131l b1 RRGR I SIS S| URd 61 Sil-20 DI Sehefd &1 7d [d9Y 8- “agéd rab i i T U,
T URAR 3R U Hiaw ST A8 (Life) (TTTERUI & 1T SiiaH et F Fehe et g1 Sil-20 BT SAed D 99 &
feTQ Sil-20 BT ToiST Feid BT § SR FRRGR Fe ol ASfart 3l 31 ofl-20 H &1 GHMIGR AR =i ¢ S fad
ArT SR U1 A7 ¢ | o Tt SR =i ddb o T1a-R fad A7 &1 g Bid g Sidich TRUI T &1 Adcd AT 6 g
HRA DI Sil-20 UTYTHGAI § — U 9, STeiarg {99 SR Siia: aRd SHERI 3R YR [d6m; ¥ad (e Sedl
(THIISH W Yid § <ol i Weifia g gRad SR f3fSied e siadadr 21 9 9l & fiu sguei S,
3R ffgarsi & Add ¥ f[ahr™ | YRd A 3D Ugdl 3R 980D 1Y T & & DY DId b TolS] DI TB3HTd B
cl gl SU IS & Uh Y & ¥4 H, YR RaweR 2023 H feed!  Sil-20 &1 difties FRRER HieH 3MEifid &= 9§ Ugd
32 fafir & Trarelt & ddo 4 so T 3ifd T T 200 Y MUF dad! ST AFEH S| 34 RRER gia T Si20 &
3{d I & Yaiferd 43 R W3l & T U ol | 3Y RRGR G DI SRS H U fay gawil § HRd &1 &g
AT U T 971 3R Ig 9y & 131 & GHe YRd S Gl fard, Shid 3iY Iuaisdl & Udd & adl
dTYD GoId fdbr & AT URA Bl Uiddgdl DI G B UD 991 IR g

The size of G-20 in terms of world population, global GDP and global trade respectively is:

. 85%, 75% and 85%
.67%, 75% and 85%
. 85%, 67% and 75%
.67%, 85% and 75%
1) 1
2) 2
3) 3
(4) 4

%y @1 SiReaT affye Siterdl 3R af¥d TR &1 €fP Y Sil-20 BT AER HAL: §

. 85%, 75% 3R 85%
. 67%, 75% 3R 85%
. 85%, 67% 3R 75%
67%, 85% 3R 75%

B R
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=30089] Question Description : economics_economics_setl_english_q98
2[Option ID=30090]

3[Option ID=30091]
4[Option ID=30092]

Sl. No.99
QBID:11099 _ o ) _ _
India's Presidency of the Group Twenty (G-20) is a matter of great pride for all Indians. The G-20 is an intergovernmental

forum consisting of 19 countries such as Argentina, Australia, Brazil, Canada, China, France. Germany, India, Indonesia,
Italy, Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, United Kingdom and United States and
the European Union. The G-20 was founded in 1999 after the Asian financial crises as a forum for international economic
cooperation. The size of G-20 indicates its relevance in the global economy. The G-20 members represent around 85% of
the global GDP, over 75% of the global trade and 67% of world population. The G-20 summit is held annually under the
leadership of a rotating presidency. India assumed the G-20 presidency from Indonesia on December 1, 2022 and will
convene the G-20 leaders' summit for the first time in the country in 2023. The theme of India's G-20 presidency is
"Vasudhaiva Kutumbakam", that is, "One Earth, One family and One future" closely ties with LIFE (Lifestyle for
Environment). The G-20 presidency steers the G-20 agenda for one year and hosts the summit. The G-20 consists of two
parallel tracks : the Finance track and the Sherpa track. Finance ministers and Central Bank Governors lead the finance
track, while Sherpas lead the Sherpa track. India's G-20 priorities are Green Development, Climate finance and life;
Accelerated inclusive and resilient growth: Accelerating progress on SDGs: Technological transformation and Digital public
infrastructure; Multilateral institutions for the 21st century: and Women Led development. India kickstarted its presidency
term agenda with a series of initiatives and meetings. As a part of this, India will host over 200 meetings in over 50 cities
across 32 different work streams before conducting the annual G-20 summit in Delhi in September 2023. The 43 Heads of
Delegations, the largest ever in G-20 will be participating in the final summit. Conducting of this summit definitely
increases India's standing in the global order. It is a great opportunity to showcase India's cultural heritage, culture and
achievements to global leaders and India's commitment for global sustainable development.

URJ §RIYGU ¢l (S11-20) B & AU HAT U YR & {10 71d &1 &1d g1 5i1-20 Ueb 3R DRI 1 g for g
19 SRS b SfeldHT SRSTer, siroiidl, HAIS1, i, Wiy, STEHT, YR, SSHIRAL, 3ecl ST, HIRAT TR,
ORfiD], 34U, Ghal R4, G0 3{hid], dil, RS TS 3R gAISeS Wil aul U 99 e g1 uiRErs
faxia e & d1e, Sfi-20 BT RITT T SARRITIT A1 HgaNT & Ha & FU H 1999 H g5 011 Sil-20 BT DR fay
SIHTRIAT H 3HD! URHRTddl b =AMl 8 1 Sil-20 & UG 85% [AYPI Siioldl 75% I Hied [di¥d AR R fay 3
67% SEEA] BT UdiHfd ®rd g1 Sil-20 FRRAG YT I R TR & e & Add 8 diitics $9 Y i
BT gl URA A | AU, 2022 & SoHRAT U Sit-20 BT &/l T80l B g 3R 98 2023 H o H Ugall aR oil-20 &
ATl BT FRRIR FWIei SRS B | HRd 61 Sil-20 DT SHET BT Hd fa9Y 8- ~agdd Herab i yid T eRll,
Udh URAR 3R Udb YT ol A2 (Life) (TTTRUT & fe1U Sitad efl) Y e Jde g1 Sil-20 Bl A& Uh a4 &
1T Sil-20 D1 TfST FH4TRT Bl § 3R RRR GHid- & ASarH Sl ¢l Sit-20 H & GAFIGR A7 27Hid g o fad
AN 3R R AT § | To Tl 3R Bt b & Ta-R fd A7 BT Aed DRl g STdlich IRUT AN DT Afed IRUTH g
YRA D1 Sll-20 TYHBAN § - Ui [9b ™, Seidryg fad 3R Siid: aRd 9q1ai 3R YR [dbrg; Udd f[aer e
(TgSIoh W yid o ol aFn: Wi g gRad SR fSiored adeii-e sfauvadr: 21 9 9el & e sguei Sy,
3R Afgersfl & g H [a®m¥ | YRd 7 3Hd Ygdl 3R S3hid Ty (Ul & & B I & Tois] B TB3Td B
2l g1 39 3olSI o U Y & ¥U H, YR RaiaR 2023 H faed! ¥ Sil-20 &1 aifties FRRIR &eH SiEifoid &34 3§ Ugd
32 T SR Fare] & Tae | 50 U e g H 200 Y (& d&D! I HodHl &1 39 RRER e H oil-20 &
e TP & Yaiied 43 AP HSal & TR YT o7 | 59 R A B SIS ©3- ¥ 3y el H YRd & dg
AT S0 §¢71 311¥ Jg fay & d131 & Yue& YRd b1 Gl [, §¥Did 31X Suaiei & U¥dd S adl
3% Tad fahr & iU YRd $I Uldd<dl i G2H 1 UD 931 3R g

The theme of India's G-20 presidency is tied closely with —

. Vasudhaiva Kutumbakam

. One earth, one family and one future
. Technology, Infrastructure and SDG
. Life style for environment

B O

(1) 1
) 2
(3) 3
(4) 4




HRd $I Sil-20 el & Yol fawged Fafafad 3 § feud ury Ade ddy g

1. YT HorEDH

2. U Yedl, Uh URAR 3fR Udh Hidwy
3. UTeNfiat, SauRa-l 3R Tgalsi
4. TiaRul & feru offad et

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30093] Question Description : economics_economics_setl_english_q99
2[Option ID=30094]

3[Option ID=30095]
4[Option ID=30096]

Sl. No.100
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India's Presidency of the Group Twenty (G-20) is a matter of great pride for all Indians. The G-20 is an intergovernmental
forum consisting of 19 countries such as Argentina, Australia, Brazil, Canada, China, France, Germany, India, Indonesia,
Italy, Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, United Kingdom and United States and
the European Union. The G-20 was founded in 1999 after the Asian financial crises as a forum for international economic
cooperation. The size of G-20 indicates its relevance in the global economy. The G-20 members represent around 8§5% of
the global GDP, over 75% of the global trade and 67% of world population. The G-20 summit is held annually under the
leadership of a rotating presidency. India assumed the G-20 presidency from Indonesia on December 1. 2022 and will
convene the G-20 leaders' summit for the first time in the country in 2023. The theme of India's G-20 presidency is
"Vasudhaiva Kutumbakam", that is, "One Earth, One family and One future" closely ties with LIFE (Lifestyle for
Environment). The G-20 presidency steers the G-20 agenda for one year and hosts the summit. The G-20 consists of two
parallel tracks : the Finance track and the Sherpa track. Finance ministers and Central Bank Governors lead the finance
track, while Sherpas lead the Sherpa track. India's G-20 priorities are Green Development, Climate finance and life;
Accelerated inclusive and resilient growth: Accelerating progress on SDGs: Technological transformation and Digital public
infrastructure; Multilateral institutions for the 21st century: and Women Led development. India kickstarted its presidency
term agenda with a series of initiatives and meetings. As a part of this, India will host over 200 meetings in over 50 cities
across 32 different work streams before conducting the annual G-20 summit in Delhi in September 2023. The 43 Heads of
Delegations. the largest ever in G-20 will be participating in the final summit. Conducting of this summit definitely
increases India's standing in the global order. It is a great opportunity to showcase India's cultural heritage. culture and
achievements to global leaders and India's commitment for global sustainable development.

HURA §RI YU ¢l (S11-20) DI HLIEM AU D1 il RN & e1T 17d &1 &1d g1 fl-20 Ub 3R BRI #d g o
19 G Oy fdh Sl SHIRSTTT, siToiied, STt i, Whid, ST, YRd, SSHIRMEI, Secll ST, HIfRal TURT,
ORfihl, 3, U3ha! 3Rd, GIAUT pid], dbl, JAgcs [biTeH 3R JAIge s oy Yy JRIUY 9 XM g1 TR
faxita e & dIe, Sfi-20 &I ®ITTT T SRR M1 GgaT & Ha & FU H 1999 H g3 1| Sil-20 BT DR fay
SIHTRIAT ¥ 3D UM T b SR B 1 Sil-20 & UG 85% [AYDI Siisldl 75% U it [di¥d AR <R fay o
67% SITUHT DI e Hd g1 Sil-20 RRIE T IhThd SR TR &+ 3{& & Agd H aiitid U Y e
Bl g1 URA H 1 SR, 2022 & SSIHRAN Y Sil-20 1 el YUl Bl g 3R 98 2023 H ¢ H Ugell IR Sil-20 &
131l o1 RRGR YA TSI S| HRd Dl Sil-20 DI Seefd &1 7d [d97 8- “agld Hrab i i T 4R,
U URAR 3R U Hidw ST 1S (Life) (TTTARUI & 1T SiiaH LAetl) F e Taie g1 Sil-20 B S b 94 &
e Sfl-20 BT ToiST FHiRd Bl 8 3R RRIR Grie &1 Aol Sl 81 il-20 H & YHHIGR AW e € S fad
AR SR RUT A0 § | 9 1 SR i ddb & 7a+R fd<d A7 &1 Add B g Sidich IRUI A DT Adcd AGT Rl G|
HRA B1 Sil-20 WYHHA g — Ui [d ™, Siefarg fad 3R Siigd: @Rd gHERil iR Y f[dem; 9dd [dem™ el
(THSISI TR Ui § <ol T Wi g gRac SR fSioed Ardeii-d Sauvadl: 21 9 9el & iU Sguaia SRy,
3R wfgersfl & g ¥ [dD¥ | YRd A 3-d Ygdl R d8bid G (Ul L&A & B DI b TSl B TB3HTd B
281 U ST & U YT &b ¥U H, YR R 2023 T feed! § Sit-20 &1 diitie RRGR guie i 3 9 ugd

32 fafis & Trarelt & ddo d so T 3ifAd T H 200 U S dah! ST AFEH S| 34 RRER gia H S0 &
3 I & Yaiferd 43 Ry W3l & T UFT ol | 39 R YW Sl SRS $ 9 fay gdw § URd &1 6g
fAT3d U T 961 3R Ug 9y & 131l & GHe YRd S Gihidd favMd, Shid 31X Iueisl & Udd H- adr
3y Tad fahr & AU YRd DI Uiddsdl dI GRI1H 1 UD 991 TR g

The tracks in G-20 are :

. Finance track and Sherpa track

. Sherpa track and Economics track
. Climate track and Sherpa track

. Sherpa track and SDGs track

) 1

B R




) 2
3) 3
(4) 4

Si-20 H fREfRad # 9 @ T AFf 9ife g 2

1. fo anf 3R TRur Ant
2. IR HMT 3R I AR

3. SIdTg |1 SR 2RUT g7
4. TRUT AT 3R THStSil AR

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30097] Question Description : economics_economics_setl_english_q100
2[Option ID=30098]

3[Option ID=30099]
4[Option ID=30100]




